MSMSS - 2023
(For Class 9th)
SET: A

STIHHIE (e H) -
Roll No. (In Figures)
SAgeHHIH (<At H) -

Fehold HHIH T
3TouHo3TRo HHH
Booklet Serial No. &
O. M. R. Serial No.

Roll No. (In Words)

e &= & A
Name of Examination Centre
Tl 1 AN - At B TEER -
Name of Candidate Signature of the Candidate
-gRaesr 7 gt B T gl # & amT
5 AT . .ﬁ ‘35'? 24 . 70 . 22 hours
No. of Pages in this Question Booklet No. of Questions Time

et B SEATETT /Signature of the Invigilator :

ST=rElf I 10 Fr7e T @5 FeF geawr 9% 8 & F 9g7, FeFGA gFIE T RT IQ qEAH F ARIT T 9% B, =T 97 H 7 oF

FFIT B T gST F SrEenHET FYH, misprint 9% F B Q@ Ry agaw ) 9l ge7-97 gFae 7 ge & ARG T TIT 89 &, g miss

& a1 F¥ g misprint & @ g7 F= orehErE @ FAaT P FeFUT JHAT g7 1 5 10 e B geErg I GO GEIT &7 P 99Erg #E
qrar w@hwre TE BT S 5 10 frel & sifiRed, geet #F IaY 37 T oifa &Y B R QR 2.9 T 6T Rar s

ST=Ifefar & ferg fAEer -

1. IR 9% (OMR) 29 99 YRaT & 3=l &l
2| S Ul U9 gRAeRT Fie @ el S, o
SAX UF% h B AN | dhad Fldl did @ge
U9 q fgaver «%)|

2. gdler i SFafe 2% g2 ¥ ud uss YR H 70 U
2| UDF UT UF 3k B T | PIF FUHB BT
FeT &1

3. 39 U WX gl SHAfehd i Ud IOX TEeh G
MIE T % [T $ad w9 @Ee 99
TART HX | AT gA-GRIB HT ITART FHIA T
IO U B WA H FEEl S | §9Y F9F
gRawr @< qarT &l B i

4. 7 i gFftaa X o 6 usd gRAw HHiE SiR
S USE HH% UH & 8| TR Fe f= B @
gssT gRQeRl H HIE gsS Miss I Misprint &1
Al gAY gsA-gRAHE AR IO d=d A &
e [Fieteh bl gId ST YA |

INSTRUCTIONS FOR THE CANDIDATES :

. The OMR Answer Sheet is inside this Test Booklet.

When you are directed to open the Test Booklet, take out
the Answer Sheet and fill the particulars carefully with

black ball point pen only.

. The test is of 2% hours duration and consists of

70 questions. Each question carries one mark. There is no

negative marking.

. Use Black Ball Point Pen only for writing particulars on

this page/marking responses in the Answer Sheet. The
candidate should remain careful in handling the question
paper and in marking the answers on the answer sheet.

Another booklet set will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy or any page is Miss or Misprint in test
booklet, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

Tie : g9 JRawr & o H Ry 1@ 9 [FEen @
92

Note : Read other remaining instructions given on the last

page of this Booklet.



(2)
I% $E % 7T/ FOR ROUGH WORK




1.

In the question which of the
answer figures (1), (2), (3) and (4)

will complete the picture matrix ?
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If a solid cuboids of dimensions :
8cm X 6cm X 4cm is cut into
smaller cubes of side 2 cm each.
What is the number of small cubes

thus obtained ?
1) 24 (2) 48

(3) 96 (4) 192

Direction (Question No. 3) Select the

water image of the given combination of

English alphabet and number.

3.

N4tQj3
(1) NHEC13  (2) NHOIE
(3) UHDI3 (4 UHIOIE
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1. g9 & IAX SrsfaEt (1), (2), (3)

AN (4) & § HE- ol ==
oArege (Afgerd) & gt &l ?

¢ ¢
¢ o
¢ ?

(1)

IRIE

@ | _e
-9-

3 @ (4)

8cmx 6cm X 4cm B, @ 2cm
IS Il Ble-8Ble =91 & @9 H
FHIET ST 21 39 YhIX Bie =4
Hl TeT fhar B 7

(1) 24 (2) 48

(3) 96 (4) 192

q : (I EEr 3) IHTUSH Ui
SR deaAl & QU T A B ST
gicfeie T

N4tQj3
(1) NE013  (2) UHOIE
(3) UKDI3 (4) UtIOoIE
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. Vijay is 18th from the left in the

row. He came 5 places to the left.
If there are 34 students in the row,
then what is his position from the
right now ?
(1) 22nd
(3) 23

(2) 16t
(4) 24th

If all the vowels are removed from
the English alphabets, then which
will be the eighth letter to the
right of the fifth letter from the
left ?

(1) M (2) N
3) P 4) Q
Four friends A, B, C and D are
playing A and B are
partners. D is facing North. If A is

sitting to the left of D, then who is
facing South ?

cards.

1) B
3) A

@) C
4) D

Select the water image of the
given figure (X) :

o (29
o/

B
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(1) 22at
(3) 234t

(2) 16ar
(4) 24aT

. gie gl Wl o STUS gerHTen

ﬁéaﬁm\—rrrq Eﬁamﬁmaﬁ

1) M @) N

3) P “4) Q

. TR AT A, B, C X D dIwr
Td W 1 A X B amug #H
SRR 1 D % @ IAaX @
M 21 g A, D & 96 o}
do1 B, O Fedswr g@ sfRer @
T B ?

(1) B 2) C

(3) A 4) D



Direction : (Question No. 8 and 9) In
each of the following figures numbers
are written according to some patterns.
One
missing number

missing. Find the
that the

number is
replaces
question mark (?).

8. 248 1
121 2
58 5
2 12
(1) 23 @) 27
(3) 29 (4) 25

PHE

(1) 32
(3) 14

(2) 34
(4) 24

Direction : (Question No. 10 and 11)
In the following questions a figure (X) is
given. Select the option which resembles

the mirror image of the figure (X).

10.

(o)

(x)

|

(1)

o)

3)
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(4)

(5)
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fdsr - (UsT @@ 8 wg 9) A & 2
U SRl H Uh MiREd e ergar
e Hel e g o3 o9 uh
e ga 21 g 9= S/ H, S
gsq e (?) & ®&F 49X I9gE o |

8. 248 1
121 2
58 5
? 12
(1) 23 2) 27
(3) 29 4) 25
9.
(1) 32 (2) 34
(3) 14 (4) 24
IRER] (7 Eem 10 uwg  11)

frrfaiaa ueat & empfa X) & 12 B
MY 39 [ahcd B I Y, S AR
X) &% ador giafee Sar @ 2 |

o O
(o)

(x)

(1)

o)

3)

@)

(4)
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11.

12.

13.

b ccococcecs

Ay

\ v
(1) %YR @ |5
v

If in a year the Republic Day was
celebrated on the 4th Saturday of a
month, then what was the day of
the week on the 1st of that month ?

(1) Monday (2) Tuesday

(3) Wednesday (4) Sunday

Which figure best represents the
relationship between Fruit, Red
and Shirt ?

@) @

, OO
O
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11.

12.

13.

<
v

afs fFel a¥ o Raw W@ B
MY AfFaR B FART T AT, A
S WEM H Usdl A Bl
e H hi-ar &= o ?

(1) SFar

(3) guarX

&, A AR HHAS & =G B
deeg @ HE-G TR HelRE
H & 7

ey

OO
O

(2) HIEEX
(4) IEEr

(4)



14. At the time ............ between 3:00
and 4:00, both the hands will cover

each other.
4 7
1) 3:16— 2) 3:15—
(1) 5 (2) T
4 5
3) 3:10— 4) 3:05—
3 5 4) 1

15. Which figure best represents the

relationship  between  Punjab,

Haryana and Hisar ?

@)

» @O
¥ole

Direction : (Question No. 16 and 17)
In the questions given below the question
figure is that a special relationship exists
between A and B. This relationship is
established in figure C and one of the
Select the
alternative figure that should replace the

alternatives figures.

question mark (?) in figure D.
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3 ENl
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4
1) 3:16—
(1) T
4
3) 3:10—
3 5

15. 9o7E, sREmm iR Rar & a=
% HEY HI HA-Gl AR gaIAT

F B 7

2)

» @O
¥ole

ey - (U9 d@em 16 wd 17) = Ry
T Ul H U ST # A AR B H
uh O Ay iU B g8 e
g C AR Jepfedss ol & &
T H U & | 39 Johiedeh TR @l
I &Y, S ARl D # weA F=Ea (?)
HN T A Fehall @ |
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Direction : (Question No. 18 to 20) In
these questions a number/letter series is
given. In which one term is missing.
Find the missing number/letter, which
when placed at question mark (?), will
complete the series.

18. 4,7,12,21,? ,71

(1) 29 (2) 40

(3) 44 (4) 38
19. 5,5,15,?,525

(1) 35 (2) 225

(3) 75 (4) 105
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16.

17.

R :

T Y Y I
o | o e |
A B C D
@O :I 2) l:n:'
(3) ':H 4) :H:I
o’ .

- (] .. ?

[ ] [
A B C D

(1)

3)

(Je7 Ger 18 § 20) 39 Al
H up SR YEen & T ©
s ok qe o 21 Ju de/eAER
S B, S g e (7) & ' W

TG 9T AT Hl o7 Il B |

18.

19.

4,7,12,21,? ,71

(1) 29 (2) 40
(3) 44 (4) 38
5,5,15,?, 525

(1) 35 (2) 225
(3) 75 (4) 105




20.

21.

22.

23.

PAL, NZN, LBP, JYR, ?
(1) HCT 2) KCQ
(3) GCT (4) ICS

The four major components of
environment are given below.
Match the following with their
exact relation.

Relation
Air

Life

Water

Solid Rocks,

Outermost

Component
1. Lithosphere 1.
Hydrosphere ii.

Atmosphere 1iii.

s~ e

Biosphere 1v.

layer of earth

called crust
(1) 1-11, 2-1, 3-i1, 4-1v
(2) 1-11, 2-i11, 3-1, 4-iv
(3) 1-iv, 2-1ii, 3-1, 4-ii
(4) 1-iv, 2-11, 3-1, 4-iii

If SYSTEM is written as OVQIBR
in a certain code language, how
will NEARER be written in that
code language ?

(1) LBPNBP
(3) PGTTGP

(2) WBLNBP
(4) MCNOCQ

M is the wife of S. Q 1s the wife of
R. S is the son of Q. P is the son of
M. How is R related to P ?

(1) Father (2) Brother
(3) Grandfather (4) Uncle
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20.

21.

22.

23.

PAL, NZN, LBP, JYR, ?
(1) HCT 2) KCQ
(3) GCT (4) ICS

UgieRel % AR g™ "Ik A

i W@ B M=flefea s S5

qdieh gafad @ gHled i |
ey

i ag

i, Stae

i, SfaT

iv. 3/, I,
el I T
FEd g e

T FHEl S
2

(1) 1-ii, 2-i, 8-ii, 4-iv
(2) 1-ii, 2-iii, 3, 4-iv
(3) 1-iv, 2-iii, 8-, 4-ii
(4) 1-iv, 2-ii, 3, 4-iii

I fhar it 9T § SYSTEM
% OVQIBR fo/@ar <iiar &, a1 3&
Gicbfass 9T § NEARER &0 foha
UehX forEr S ?

(1) LBPNBP  (2) WBLNBP
(3) PGTTGP  (4) MCNOCQ

M, S &I 9=l 21 Q, R &l gt 21
S, Q®# YT 21 P, M & G 2|
R & P& 1 daer 8 ?

(1) o (2) T2
(3) arar (4) ==
P.T.O.



A

24.

25.

26.

Which of the following statements
correctly describes the organic
food ?

(1) Food crop grown without using
fertilizers is organic food.

(2) Food crop grown without using

weedicides is organic food.

3)

Food crop grown without using
pesticides is organic food.

(4) All of the above.

When did Nepal become
democratic after abolition of
Monarchy ?

(1) 2006 (2) 2007

(3) 2008 (4) 2009

Which of the statements 1is/are

true in relation to equator ?

i. The equator passes through
the of  South
America, Africa and Australia.

continents

1. The equator passes through
thirteen countries.

There is only one major river
which the
twice.

(1) Only ii1

(2) Bothiandi
(3) Alli, 1,111

(4) Both i1 and 1i1

1ii.

Crosses equator
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24.

25.

26.

Ffafaa § & ®HE-ar e

Siferh @1ed H1 @& AT Bl

g7

(1) i 1 IGIET T &=
e S dl @ed hEd
Sifares AT 2 |

(2) M1 ERUAERARER & IS
ST all @ed ®Bad S

qo 2 |

(3) H/ISAIERI &b ITANT & f&AT
IS S gl ©Ed wEd
S Ao B

(4) IUEFT Tl |

AU TSTT= bl GH HIH b 96
b=l & AT 7

(1) 2006
(3) 2008

e @ &% Hag 7 BHE Ar/d

FIT TF & ?

I gA= W@r SR STHIER,
3THIT ST offeeferar Herdat
q BT oAl ¢ |

. YHed @01 d¥e a0 A Bl
ToRET B |

iii. e UTH gPE TE T SN
YA W@ H & d) U’
FIAT 2

(1) e iii

(2) i3TTii =

(3) A 1, i, iii

(4) ii SR iii =T

(2) 2007
(4) 2009



27.

28.

29.

30.

The
reproductive organs is called :

period of maturity of

(1) Adolescence period
(2) Menstrual period
(3) Gestation period

(4) None of these

The force of 50 newton acting on

area of 50 cm2 will exert a

pressure of :
(1) 100 Pa

(2) 1000 Pa
(3) 10000 Pa

(4) 1Pa

First World War started in :
(1) 1915 AD
(2) 1916 AD
(3) 1918 AD

(4) 1914 AD

Which of the following created

Indian Constitution ?

(1) Indian Parliament

(2) Constitutional Assembly
(3) Dr. Ambedkar

(4) British Parliament
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217.

28.

29.

30.

A

UST STT ol 9iuedr i 3Tarer
FHedl 8 ¢

(1) TepsnTerE ahret
(2) AE =k I
(3) UFEHTEE

(4) 79 & g &

gfe 50 e ad, 50 X aif
% AFBA UX AT S, af T8
feha T 19 JmaI ?

(1) 100 Pa
(2) 1000 Pa
(3) 10000 Pa

(4) 1Pa

g a9 geg UTeE geT -
(1) 191580 H

(2) 191630 H

(3) 19180 H

(4) 191430 H

ARG 9iga™ hes aRT =
T ?

(1) 9RAE H99e 810

(2) Higeg = 991 g1

(3) Sfo IT=THT R

(4) fafest 9@ 30

P.T.O.



31.

32.

33.

Global warming can result in
many serious alterations to the
Which  of the

is/are  wrong in

environment.
statements
relation to global warming ?

1. Adverse Impact on health
ii. low sea level

11. Threats to biodiversity
(1) Only i1

(2) Both i and i1

(3) Allj, i, 1ii

(4) Both ii and iii

The
producing an identical cell or any

other

organism 1is called :

process of  artificially

living part or whole

(1) Tissue culture
(2) Cell biology
(3) Cloning

(4) Biotechnology

Which
letters will look the same in the

of the following set of

mirror ?

(1) OSMIMOM
(2) VHRTRVH
(3) HIMOSTA
(4) AOVIVOA
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31.

32.

33.

EA anHT &% gRemHE sy
qIfEReT # %3 R afRgdd &
ghd 2| TAEd aieT & gey #
PH-GT/ HIT TAT 2 |

i @R 9T g0 999

. =1 992 wX

iii. S fafggar & o @aa

(1) Fad ii

(2) i iii =T

(3) |, ii, ii

(4) ii SR iii =T

2231 IS £ Eohe M 211 o B | I X
Sifed ANT ofYer HYel Silg o

FEH BT H I B Bl UERAT
Fedrl 8 -

(1) Sa% das=
(2) IR fasT=
(3) FAT

(4) Sig AgatEn!

g § @ et &1 si9-4ar
qqe o1 | gHE feEg & v

(1) OSMIMOM
(2) VHRTRVH
(3) HIMOSTA
(4) AOVIVOA



34.

35.

36.

37.

Which

example of Thermoplastic ?

(1) Nylon

of the following is an

(2) Bakelite
(3) Melamine
(4) Vulcanized Rubber

Who is the chairperson of Rajya
Sabha ?

(1) Governor
(2) Vice-President
(3) Prime Minister

(4) President

The amounts of these resources
be

replenished by natural methods,

are less and will not

are ..cceeeeenee. .
(1) Biodegradable Resources

(2) Non-Biodegradable Resources
(3) Renewable Resources

(4) Non-Renewable Resources

Who established Shantiniketan ?
(1) Ravindra Nath Tagore

(2) Devendra Nath Tagore

(3) Satendra Nath Tagore

(4) Willian Jones
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34.

35.

36.

37.

A

ITH d BHE-9T YHIEREH
e & 7

(1) s

(2) ShaEe

(3) AT

(4) dTHARSS X

TqoadT &I G i BT 8 °?

(1) T~

(2) IUTSITl

O RLIBEEI

(4) Tegafa

ggld H B GarEdr sl "JE
i & SR Ul afeharsdi
R g el 8 @kl 8,
3= Fed T |

(1) =T S9Ed

(2) SIFTIRTOT Tare

(3) AR IOTT SEEd

(4) SRS e

MTITTeha=T &l T=oAT fheae &l ?
(1) Ia===rer Y
(2) FIA=ATT MY
(3) TA=ATT X
(4) faferz™ St

P.T.O.



A

Direction : (Question No. 38 and 39)
Which one of the answer figure would
occupy the next position in the question
figure, if they continue to change in
same order ?

38. Question Figures :

AR ARR | ARRIARA
M AR

)

) (4)

Ay
AR

39. Question Figures :
00+ (oto|—00[oot
M [0 @ (00
&) HIZIO\ @ |00

40. The perimeter of a rectangular

photo frame 1s 20 cm. If its length
1s 6 cm then its breadth will be :

(1) 4cm (2) 6 cm
3) 10 cm (4) 14 cm
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39.

40.

o M| @ AR

@ [§AR] @ [AR

ges ST ¢

00— |otol—00[cot
O |0 @ (0«0

(3) H[IO\ @ |+00

T%h STAAERIX HIelhH &1 IiRHAY
20 9 2| AT TS S 6 T
g, dI 39l A= Bnl
(1) 499 (2) 63
(3) 10 9 (4) 14 91



41.

42,

43.

44.

Number 1 to 10 are written on ten
separate slips (one number on one
slip) kept in a box and mixed well.
One slip is chosen from the box
without looking into it what is the
probability of getting a 1-digit

number ?
1 1 @) 0
(3) 1\10 (4) 9\10

According to you what is a Hen’s
egg in the given options ?

(1) Tissue

(2) Organ

(3) Organ system
(4) Cell

The value of 997 is :

(1) (90)%+ 2(90) (9) + (9)*
(2) (90)*—(90) (9) + (9)
(3) (90)* + (9)*

(4) None of these

With respect to zones of candle
flame, choose the correct option :

(1) complete

Outer zone of

combustion — Yellow

Innermost zone of unburnt
Candle wax — Black

Middle

combustion — Blue

)

zone of partial

3)

(4) Hottest Part — Black
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41.

42.

43.

44.

A

T o 10 Tb H G&ATSAT B 9
S-S gl g gy T
T H ST T g TSI d¥e
fer fRar ) e # 9§ fo
3@ UF Uyl Ml T2 UE 3w
P & M H R TiieRdn
=1
1 1
(3) 1\10
HUh AR &I faeedi d @
T 1 SAST T B °

(1) b

(2)

(3) ST UOTET

(4) IR

2) 0
(4) 9\10

99 H A B :

(1) (90)* +2(90) (9) + (9°

(2) (90)*—(90) (9) + (9)*

(3) (90)*+ (9)°

(4) =75 ¥ Hig TE

AHGD &l SOl & Hed H, @8
faepeT g

(1) 9ol =& &l =gd &= — qiall

(2 T S HiEel H 999

STARE &= — AT
(3) SAIfRF IB Al " HET -
i

(4) 999 TH 9FT - FHT

P.T.O.



45.

46.

47.

48.

49.

In which Article of
Constitution

the Indian
every citizen has
been given fundamental right to
life ?

(1) Article 21

(3) Article 19

(2) Article 22
(4) Article 18

The ratio of speed of a motorbike
50 km per hour and speed of cycle
20 km per hour is :

(1) 2:5
3) 5:2

2 5:1
4) 1:2

The first English Factory was
established on the banks of which
river in 1651 AD ?

(1) Narmada (2) Hugli
(3) Tapti (4) Satluj

A rabbit walks 1 kilometer in 2
hours. After every kilometer he
rests for 20 minutes. How much

time will it take to cover a

distance of 3.5 kilometers ?
(1) 8 hours (2) 7 hours
(3) 6 hours (4) 5 hours

Voice of which of the following is
likely to have minimum frequency ?

(1) Baby Girl
(2) Baby Boy
(3) A Man

(4) A Woman
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45.

46.

47.

48.

49.

ARG Giae & fha or=me |
U AN @l Sia_ &l Alieeh
3TferepT f&ar = 8 °

(1) STJ=BE 21 (2) 3TT=8% 22
(3) ITI=W=E 19 (4) 3TI=8% 18
U Hieldzsd NTeehl i 50 fRH

gy Her ® 9 U TEihd STEeh
wfg 20 R ufgd ser B, @

ST B
(1) 2:5
3) 5:2

g ERAST el 1651 Fo H
fope 1 & [Ty i g8 7

2 5:1
4) 1:2

(1) e (2) g

(3) ari (4) TGt

Th GENY 2 " H Ush fhalidie}
IAdT 1 UDH [halbiey & 9%
ge 20 fa9e fgsma &ar 21 3.5
fparder & g0 a9 H H 39
T T9T @ 7

(1) 8% (2) 7HS

(3) 6% (4) 5He

M= § 9 [h9 arp & @ AT
FATH BN FH e 7

(1) =IEr TSl &l

(2) BIC TSh i

(3) gBY &N

(4) =i



50. Which metal is used to galvanize

Iron ?
(1) Chromium (2) Magnesium
(3) Zinc (4) Copper

Direction : (Question No. 51 and 52)
Read the information given below and
answer the questions based on it.

P,Q, R, S, T and U are six friends sitting
in a circle facing each other. P sits
between S and Q and U sits between R
and T. R is third to the left of Q.

51. Who is sitting between P and R ?
1 T 2 Q
3 S 4 U

52. Who is sitting between Q and U ?
1 T 2) R
3) P 4) S

53. The angle of incidence is equal to
angle of reflection :

(1) Always

(2) Sometimes

(3) Under Special Conditions

(4) Never

54. One of the following is not a basic

component of a rainwater

harvesting system.
(1) Catchment

(2) Delivery system
(3) Storage reservoir

(4) River system

MSMSS/9-2023

(17)

A

50. <2 1 IMEoIT [hE 91 &

fhar ST 8 °
(1) oIz (2) TS
(3) TS (4) aram

s ¢ (99 " 51 wd 52) A= &
TS JAME B UEHI 39 g SR
UsHi % I dITd |

P,QR,S, T 3iX Us: 3 0% T &
AFA-GFE Th M 3R 7 92 21 P, S
IR QI IT T U, RAXT 3 a9
¥ JoT BIR,Q B aIrff ) deT B

51. PR R & & &9 Je1 8 ?
1 T 2 Q
3) S 4 U

52. Q 3IX U & &g &9 doT & ?
1 T 2 R
3) P 4) S

53. STMUAE  HIOT, UEAH  HIOT B
FET BT B
(1) |z
(2) HHI-FJ/HT
(3) fagw uRfrafaai #
(4) AT T

54. fFr=ifcifag & @ ©ws awi o«
SEEE IR LS 2 B
TET 2
(1) STerus
(2) TIaTeT gomet
(3) ST
(4) &I ot

P.T.O.



55.

56.

57.

58.

Which of the parallelogram has all
sides equal and diagonals bisect
each other at right angle ?

(1) Square
(2) Rectangle
(3) Rhombus

(4) Trapezium

Which of the following is not a
member of solar system ?

(1) An asteroid

(2) A Satellite

(3) A Constellation

(4) A Comet
For which
m=28?

(1) (™ x573)/52=5°
(2) —(5™ x 57%)/5% = 52
(3) (3™ x 5%)/5% =5°
(4) (5x52)/52=5°

of the following is

Which of the following can not be
charged easily by friction ?

(1) A Plastic Scale

(2) A Copper Rod

(3) An Inflated Ballon
(4) A Woollen Cloth

MSMSS/9-2023
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55.

56.

57.

58.

HFT-A GHRY GgYS g9l
ot ga € 9 Iah Aol o
A Bl 90° G FHIEHISTT hid
g7

(1) @t

(2) A

(3) FH=IgHST

(@) FHTE TgYS

=1 § @ %9 a9 aRar @
qe 7T & ©

(1) gg=3re

©2) ITE

(3) ARTTEA

(4) g75g

=1 7 9 e T m &1 A
88 ?

(1) (™ x573)/52=5%

(2) —(5™ x 57%)/5% =52

(3) (5™ x 5%)/52 =5

(4) (5x52)/5%2=5

frefaRag & R sdor &

AT | STARME 787 har S
Hehdl 7

(1) < s Y9
(2) did @ B

(3) el gAT TSR
(4) ST FE=



59.

60.

61.

62.

Which of the following statement
about Rhizobium is true ?

(1) Rhizobia are bacteria that can

live in the soil

(2) Rhizobia are bacteria live in
nodules formed on the roots of
legumes.
Rhizobia
obtaining nutrients from the

are bacteria

3)

plant and producing nitrogen
in a process called biological
nitrogen fixation.

(4) All of the above statements
about Rhizobium are true.

Who wrote the book 'Gulamgiri' ?

(1) Savitri Phule

(2) dJyotirao Phule
(3) Mahatma Gandhi
(4) Ramabai

How many parallelograms are in
the given figure ?

DNERANERANEAN
DNEANERNEAN

1) 11
(3) 16

@) 12
4) 18

Which one number is wrong in
the number series ?

5,13,39, 160, 805
1) 5 ) 39
(3) 160 4) 13
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59.

60.

61.

62.

A

TEAlSEY & IR ¥ Fefeiag H

T P A1 FAT TF L 7

(1) TestifeEr Sty € S fred
¥ ¥E 9%d 2|

(2) TESHeEAT STE] € ST &t @i
SSi 9¥ 91 el H wd 2|

(3) UESHfeEAT Sfam] € S dref |
ques dd U g & SIX
Sifgeh ARBeeT RS eT
AHE GfERAT & AT ARSIS
FT IAET HA & |

(4) TESAIEEH % A H Suled
afl HoF T9 &

YAMERR gEIh @ T fhad
H 7

(1) qrfest Bt

(2) SR g

(3) HeTHT el

(4) THETE

M ol H fhaw  @WiAR
IS € 7

DNERANERNEAN
DNEANERNEAN

1) 11
(3) 16

) 12
(4) 18

T Ear § HieA-9l U |
TAT S T

5,13,39, 160, 805

1) 5 (2) 39

(3) 160 (4) 13

P.T.O.



A

Direction : (Question No. 63 and 64)
The given figure (X) is followed by four
figures (1) , (2) ,(3) and (4) , such that (X)
is embedded in one of them. Trace out

the correct alternatives.

63. XZ

(x)

(1) )
3 % )
c/

64. /\/\

(x)
M @ @ %2\9

—

3) & () _%7[[

MSMSS/9-2023
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e : (U9 e 63 wd 64) fam =
e (X) = == (1), 2), 3) ST @)
g Uk H IR0 2, 39 e (X) T
g el ww | Ffed 21 @@l famed @

qed™ &Y |

63. XZ

(x)

(1) (2)
&) % (4)
c/

64. /\/\

(x)
) @ @ %2\9
(o)

—

3 &L (4) _%7[[




A

65. A person is trying to climb a pole 65. TF F 60 Hie Had T WX
60 feet high. He climbs 6 feet in Ie BT UIT HL @I ¢ | 98 TH
one minute, but slips and comes e # 6 Wie I ST 8, At
down 4 feet, then how many fhae Y 4 Hie T ST S g,
minutes will it take him to reach al $UX T qgaﬁ 7 39 fohaq
the top ? e T
(1) 32 ) 28 (1) 32 (2) 28
(3) 27 (4) 34 3) 27 (4) 34

66. In which year did the Permanent 66. S H TR S<EW HA NIVN
Settlement come into force in g3 7
Bengal ?

(1) 1796 AD (1) 1796 o
(2) 1794 AD (2) 1794 %o
(3) 1793 AD (3) 179320
(4) 1795 AD (4) 1795 %0
Direction : (Question No. 67 and 68) feer : (997 e 67 wd 68) FrAfaRad

ged H IR gl H " UH ST
I+, B SE Al X) J g R=ree
(?) % M 9X @1 Q@ e goi &

In the following questions, choose a
figures amongst the four alternatives

which when placed in question mark (?)

space of figure (X) will complete the S
pattern.
67. 67.
? ?

(x)
(1) & @
3 4) & 3

MSMSS/9-2023
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68.

69.

70.

7B

X)

N\
(1) %A@ 2)
DB

Ozone depletion is caused due to

increase in level of :

(1) Carbon monoxide
(2) Chlorofluorocarbon
(3) Water vapour

(4) Oxygen

When the square of a number is
subtracted from the cube of the

same number, it becomes 100.

Find the number :
1) 1
(2) 2
3) 4

4) 5
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68.

69.

70.

7B

X)

N/
(1) %A@ @)

Mol

ST RiFARoT & «)X # gis
PT BT Bl © -

(1) HET qHETFAES

P EESIRESIREICE
(3) AT ar9q

(4) STt

9 Uh &A1 & a9 HI I GE&T
$ g9 § 9 ge™dr Sar g, ar 100
T eIdT 8 | §&IT ST Y

1) 1
2) 2
(3) 4

4) 5
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5.

10.

11.

12.

13.

14.

15.
16.

17.

usHl % IO, I9X U=k H it @t
i@ @Ee U9 | goiaar wem & g,
= g ™= e o

O @ ® ®

AW B I ™1 SOX 99 "l Se, 9
IR A @ B A U 9 9 ©

© ® © @

g uh q STET @l B 9T 39 & Al AT
JAY Ad HAT ST |

B I
a1 &%

. X% HE U gRIE H TH A & g & e

el SFTE 9¥ &1 &1 |

.9l IOY Fad AT 9=k (OMR) 9¥ & SAfehd

H | AT IR AFYESD Hiehd B | I FEa
2g 29d % (Fhe wIS) H gAnT Mt B

. g% 99 & g Ru @ 9 fGeedt § 9@ S

fopeg & [T IOX =% (OMR) 9% Had TH &
gd H T TE H O @Ee 99 A TH
IR Iax AfPd FE B d” I/ FE@r A S
T B

. Al gEfRea &Y & 39 SR 95 @ HiST |

ST Ud IE U¥ HiE oY MY A @ |
AT HYAT ATHHE IR 9= H iR
W & AR == 7 o |

gs< R Td IAX IS 1 SFgEasE HART HY,
Fifeh R o aRRET d (Fa 9= gRae od
I GHAF B HHik H Brar i Rafa @ see)
g 797 G @< Sqa= TE Fears g
gsq gRAw /SR Uk H U T hHiw R
Al |@El e 9 e 9 § o |

Feft H gem B/ /HE W OHAA wEe b
HIARFT fopdl X sl a1gg amEl, giga o
BT HRTST &I gREEl, U9, HiEEd HBie,
FAFS(h SR a7 hAT ST WX hl Al
H A S AT ITET FIA B STGART S B

IREUGEE-RUIE IS | B LR C T L D R S|
gag-u= (U o) Rt |

He= relers a1 Fders @ [T ergHfa & fae
HIE AR FUAT W T 8BS |

SAFEI+Teh /EEqaTeTd Uiiehaleh bl IYANT aford 2 |

Rl Brad d gs-gRaE Td STO-USE H Hls
AT ST T HY |

G @ B WY, STl udien  oher /e
Blgd A Jd IO USh  hE-UIAETh Wl STAH
g T Al o9 A1 g GRAHT H A ST
THl |

5.

10.

11.

12,

13.

14.

15.
16.

17.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

. The candidate should ensure that the Answer Sheet is

not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.
Use of Electronic/Manual Calculator is prohibited.

No part of test Booklet and Answer-sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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1. Global warming can result in
many serious alterations to the
environment. Which of the
statements is/are wrong in
relation to global warming ?

1. Adverse Impact on health

ii. low sea level

111. Threats to biodiversity

(1) Only 11

(2) Both 1 and 1i1

(3) Alli, 11,111

(4) Both 11 and 111
Direction : (Question No. 2 and 3) In
the following questions a figure (X) is
given. Select the option which resembles
the mirror image of the figure (X).

. 9|

(x)

o)

(1) @) °

3) @ g
o o
* B
>
N V)
1) %YR @ LG
v

MSMSS/9-2023

(3)

1.

R

e g % giRenHeESd
qgiaRer H ®s R uRaaw &
ghd &1 TEd aifi T % gy '
PT-AT/T FHAT TAT € |

i w@Wee 9X g0 99

. =1 9gg w)

i, Stg fafaaar & e @aa

(1) Faat ii

(2) iefXiii =t

(3) |, ii, iii

(4) ii SR iii =0

(U7 Hemn 2 ud 3) et

gl H ol (X)) & 1 B SM9 I

fIheq &bl == Y, S STpld (X) &
guor gfafss S&ar fRe@ar 2

Yl

(x)

o)

(1) @) °

3) (4) g
o o

g

5|
¢ V)

D %2 @ |5
v

B - B4

P.T.O.



4. If in a year the Republic Day was
celebrated on the 4th Saturday of a
month, then what was the day of
the week on the 1st of that month ?

(1) Monday (2) Tuesday
(3) Wednesday (4) Sunday

5. First World War started in :
(1) 1915 AD (2) 1916 AD
(3) 1918 AD (4) 1914 AD

6. If a solid cuboids of dimensions :
8cm X 6ecm X 4cem 1s cut into
smaller cubes of side 2cm each.
What is the number of small cubes
thus obtained ?

(1) 24 (2) 48
3) 96 (4) 192

7. Ozone depletion i1s caused due to

increase in level of :

(1) Carbon monoxide
(2) Chlorofluorocarbon
(3) Water vapour

(4) Oxygen

Direction : (Question No. 8 and 9) In
the following questions, choose a figures
amongst the four alternatives which
when placed in question mark (?) space

of figure (X) will complete the pattern.

MSMSS/9-2023

(4)

R :

g el ad o fRaq wem &
Y A BT FAET TET AT, A
SS9 "HeM &I gsel aE @
e &l -9 & or ?

(1) FHar (2) HITATX
(3) ggaX (4) Yaar

gerq foa gex U el
(1) 191530 § (2) 191680 H
(3) 191830 H (4) 191480 H

gfe fpar °rm, Eer dEn
8cmXx 6cm X 4cm %, & 2cm
ISl Il BIC-BIC o4 & & H
FreT ST 21 39 UHX Bie g4
P G Bt B 7

(1) 24 (2) 48

(3) 96 (4) 192

TS RiFAHeT & «X H gis
T BT Bl & :

(1) FHEA HAARTFIES
(2) FARTFARIBIET
(3) ST arq

(4) TR

(ue1 deam 8 ud 9) Frfaiad

g H IR fohedi H d Uk AR
A, B 5" A (X) d 9 B
(?) % T 9 @1 S @ Y goi =

ST |



10.

11.

(x)

(1) ) &
3 ) ﬂ

4 (2)

(4)

Which of the following created
Indian Constitution ?

(1) Indian Parliament

(2) Constitutional Assembly

(3) Dr. Ambedkar

(4) British Parliament

In which year did the Permanent
Settlement come 1into force 1n

Bengal ?
(1) 1796 AD  (2) 1794 AD
(3) 1793 AD  (4) 1795 AD

MSMSS/9-2023

(5)

10.

11.

(x)

(1) ) &
3 (4) ﬂ

(1) 9IRAE ¥4 a1

(2) Eiag™= 9491 &

(3) Sfo TSHT &

(4) fafesr @9 B0

RIS I IS 2T I B CES IS B 1§
g3 7

(2) 17940
(4) 179530

(1) 1796 o
(3) 1793 o

P.T.O.



12.

13.

14.

The four major components of
environment are given below.
Match the following with their
exact relation.

Component Relation
1. Lithosphere 1. Air
2. Hydrosphere ii. Life
3. Atmosphere 1iii. Water
4. Biosphere 1v. Solid Rocks,
Outermost

layer of earth

called crust
(1) 1-11, 2-1, 3-i1, 4-1v
(2) 1-11, 2-i11, 3-1, 4-iv
(3) 1-iv, 2-1ii, 3-1, 4-ii
(4) 1-iv, 2-11, 3-1, 4-iii

When did
democratic

Nepal
after

become
abolition of
Monarchy ?

(1) 2006

(2) 2007

(3) 2008

(4) 2009

Which of the following is not a
member of solar system ?

(1) An asteroid

(2) A Satellite

(3) A Constellation

(4) A Comet

MSMSS/9-2023

(6)

12.

13.

14.

UgieRel % AR 9g™ "Ih A
ffu @ B FEfiad @& 39
T Hatad 9 gAfTd HifsT |

q<h SELY

1. ¥eHSA i 9y

2. SHSA ii. SiEe

3. drgHsd i, Sl

4. JgHsd iv. 3/, I,
el I TTH
T wa S
e kel STl
K

(1) 1-11, 2-1, 3-11, 4-1v
(2) 1-ii, 2-i11, 3-1, 4-iv
(3) 1-iv, 2-ii1, 3-1, 4-i1
(4) 1-iv, 2-11, 3-1, 4-1i1

AITT TSTA= bl TH B B 98

b=l & AT 7

(1) 2006
(2) 2007
(3) 2008
(4) 2009

= F 9 39 9r giar @&
e TJg e ?

(1) g1
(2) ST
(3) dRMEISH

(4) gADg



15.

16.

17.

18.

If SYSTEM is written as OVQIBR
in a certain code language, how
will NEARER be written in that
code language ?

(1) LBPNBP

(2) WBLNBP

(3) PGTTGP

(4) MCNOCQ

M is the wife of S. Q is the wife of

R. S is the son of Q. P is the son of
M. How is R related to P ?

(1) Father

(2) Brother

(3) Grandfather

(4) Uncle

If all the vowels are removed from
the English alphabets, then which
will be the eighth letter to the

right of the fifth letter from the
left ?

1) M 2) N
3) P 4) Q
Which of the following is an

example of Thermoplastic ?
(1) Nylon

(2) Bakelite

(3) Melamine

(4) Vulcanized Rubber

MSMSS/9-2023

(7)

15.

16.

17.

18.

B

i fpel Hickices AT § SYSTEM
% OVQIBR femar siam 8, ar 3ar
Hichicreh 9T § NEARER &0 69
UepX for@n S ?

(1) LBPNBP
(2) WBLNBP
(3) PGTTGP
(4) MCNOCQ
M,S &I 91 21 Q, R a1 gt 21

S, Q®# YT 21 P, M & G 2|
R T P 9 =1 98¢ 8 ?

(1) fuar
(2) =g
(3) =&t
(4) ==
uﬁ{wﬁwﬁaﬁ@@?ﬁm
q Bl fegr S, O 91 | d9rEd

38X P ST ITSdl A& HIH-dT
BMT 7

1) M
3) P

@ N

4 Q

g9 9 HH-9T  qHIleedh  FH
IETEXT B 7

(1) ArE

(2) JFaTEE

(3) ATHTET

(4) dThAEss &Y

P.T.O.



Direction : (Question No. 19 and 20)
The given figure (X) is followed by four
figures (1) , (2) ,(3) and (4) , such that (X)
1s embedded in one of them. Trace out
the correct alternatives.

N

()
(1)
e

(4)

d

N~

(x)

20.

o (V] @ |R
® & @ _%7[[

MSMSS/9-2023

(8)

fder : (9997 Eemr 19 T 20) &=
ffE X) = == ), @), 3) X (@) H
T TH H 9RemH B, 39 aXe (X) =+
T frdt sk # fNfed 81 @& faea &1
qea™ HY |

Nie

(x)

(1)

B

(4)

(K

20.

o (V] o |R
3 &L 4 _%T[[




21.

22.

23.

A person is trying to climb a pole
60 feet high. He climbs 6 feet in
one minute, but slips and comes
down 4 feet, then how many
minutes will it take him to reach

the top ?
(1) 32
(3) 27

2) 28
(4) 34

Which figure best represents the
relationship between Fruit, Red

and Shirt ?

@)

OO
O

A rabbit walks 1 kilometer in 2
hours. After every kilometer he

(4)

rests for 20 minutes. How much

time will it take to cover a

distance of 3.5 kilometers ?
(1) 8 hours
(3) 6 hours

(2) 7 hours
(4) 5 hours

MSMSS/9-2023

(9)

21.

22,

23.

Uk AR 60 e SHI @ U
Ie B UTT HL @l & | 98 TH
e § 6 wie gg SIar 8, At
fehee ®T 4 Wi HI ST e T,
q IR TF dgE H W A
e @i ?
(1) 32

3) 27

2) 28
(4) 34

%, A AR FHST H dF b
ge ® HEA-Gl AR &R
HIT B 7

2)

OO
O

Th NI 2 He H UH fhaHex
IAdT 2| Uk fhalHiel & 9%
ge 20 fse fasm &xar 21 3.5
fepeiey & 0 dF & F 39

(4)

fopa=T ¥HT TR 7
(1) 8€< (2) 7S
(3) 64 (4) 55

P.T.O.



24. The angle of incidence is equal to
angle of reflection :

(1) Always
(2) Sometimes

(3) Under Special Conditions

(4) Never

25. Four friends A, B, C and D are
playing cards. A and B are
partners. D is facing North. If A is
sitting to the left of D, then who is
facing South ?
(1) B @) C
3) A 4) D

26. Select the water image of the

given figure (X) :

TN Y\
NG,

o

Direction : (Question No. 27 and 28)
In each of the following figures numbers

B

are written according to some patterns.
One

missing number

missing. Find the
that the

number is
replaces

question mark (?).

MSMSS/9-2023
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(1) |39
(2) HHT-FHHT
(3) fadw uRkfeafeat #
(4) AT A&l

25. I akd A, B, C X D dIwr
T W8 Bl A 3 B uw H
SigRR 21 D % J&@ Iax @&
R B oAl A, D # 9Eff IR
Jo1 &, @ Feaew gE afeer @
AR T ?
(1) B 2 C
3 A 4 D

26.

B D

e : (us9 dEm 27 o 28)
T@Q@%Wﬁ@ﬁﬁaﬁaﬁq
FIAR HB deAl foet 1§ T 1o A
Uh de g9 o | g9 @ 5 &Y,
Sttoued Rrest (7) & w©&e 9X SugeEd
gl |



27.

28.

29.

30.

31.

248
121 2
58 5
? 12
(1) 23 (2) 27
3) 29 (4) 25
(1) 32 (2) 34
(3) 14 (4) 24
At the time ............ between 3:00
and 4:00, both the hands will cover
each other.
4 7
1) 3:16— 2) 3:15—
(1) 5 (2) 1
4 5
3) 3:10— 4) 3:05—
3) 5 (4) 1

Which one number is wrong in
the number series ?

5,13,39, 160, 805
(1) 5 2 39
(3) 160 4) 13

Which metal is used to galvanize
Iron ?

(1) Chromium
(2) Magnesium
(3) Zinc

(4) Copper

MSMSS/9-2023
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27.

28.

29.

30.

31.

248
121 2
58 5
? 12

(1) 23 (2) 27
(3) 29 (4) 25
(1) 32 (2) 34
(3) 14 (4) 24
3 X 4 I & 9= 9 gHT

A g TE B e A 7

4 7
1) 3:16— 2) 3:15—
(1) 1 (2 I
4 5
3) 3:10— 4) 3:05—
3 I 4) 1

e AfEer ¥ Be-dl o E@e
TATE 7

5,13,39, 160, 805

(1) 5 (2) 39

(3) 160 (4) 13

e @ AMEAYS fhd g &N
fepar ST B °

(1) sHiHEaH
(2) TfaEs
(3) fSieh

(4) dren

P.T.O.



32.

33.

34.

35.

Number 1 to 10 are written on ten
separate slips (one number on one
slip) kept in a box and mixed well.
One slip i1s chosen from the box
without looking into it what is the
probability of getting a 1-digit

number ?
1 1 @) 0
(3) 1\10 (4) 9\10

Who is the chairperson of Rajya
Sabha ?

(1) Governor

(2) Vice-President

(3) Prime Minister

(4) President

Who established Shantiniketan ?
(1) Ravindra Nath Tagore

(2) Devendra Nath Tagore

(3) Satendra Nath Tagore

(4) Willian Jones

Which of the following statement
about Rhizobium is true ?

(1) Rhizobia are bacteria that can

live in the soil

(2) Rhizobia are bacteria live in
nodules formed on the roots of
legumes.
Rhizobia

obtaining nutrients from the

bacteria

3) are
plant and producing nitrogen
in a process called biological
nitrogen fixation.

(4) All of the above statements
about Rhizobium are true.

MSMSS/9-2023
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32.

33.

34.

35.

Tk 9 10 T6 H G&ATAT B I
ST-SATT gl g gy
fesg | ST T g = dlE
fer R ) e # o§ e
39 UF Udl Ml TR | UE 3B
B G MR H R TiieRdn
R 7

1 1 2 0

(3) 1\10 (4) 9\10

ToOET &I G i 8T 8 °?

(1) =9t
(2) JuRTSEUfCT
(3) ga=HAT
(4) gyt

Mifaeha sl ¥&g=T fbas i ?
(1) Y= MY
(2) FAEATT M
(3) TA=ATT X
(4) fafez™ =

TESeEy & IR ¥ Hefaieag ®

T B 91 HAT FFE 7

(1) TeshifeEr Sfary € S fed
¥ Y& 9&d 2|

(2) TESHTAT STETO] & S &l i
TSt 9¥ 1 el H wed 2 |

(3) ST STEme] € S odredf |
qYeh acd O &d & oK
Sifaes ABare Reiser
A GEhAT & EART ATS SIS
P IATET HA 2 |

(4) TESSEEE & 9 H YRR
adl FUH T 2 |




Direction : (Question No. 36 and 37)
Read the information given below and
answer the questions based on it.

P,Q, R, S, T and U are six friends sitting
in a circle facing each other. P sits
between S and Q and U sits between R
and T. R is third to the left of Q.

36. Who is sitting between P and R ?
1T 2 Q
3) S 4) U

37. Who is sitting between Q and U ?
1 T (2) R
3 P 4 S

38. In which Article of the Indian
Constitution every citizen has
been given fundamental right to
life ?
(1) Article 21
(2) Article 22
(3) Article 19
(4) Article 18

39. Which of the following set of

letters will look the same in the
mirror ?

(1) OSMIMOM
(2) VHRTRVH
(3) HIMOSTA
(4) AOVIVOA

MSMSS/9-2023
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B

s @ (F9 dEr 36 wd 37) A= A
TS JAMH B TEHI 39 g ARG
usHi &% IAY &g |
P,QR,S, T 3iX Us: g o T &
M-I Tk M 8 & 392 21 P, S
MM QB IF TN U, RIRT & =
F 921 B1 R, Q & o1& SN 9 2

36. PSR R & &g &g da1 B ?

1 T 2 Q
(3) S (4 U
37. Q M U & &I &9 Je1 & 7
1) T 2 R
) P 4) S

38. WRCE Hlag & fha oT=sa H

Udeh ANReh @l STia" &l Alieieh
31ferepT feor T ' ?

(1) oTg=8% 21
(2) ITg=sT 22
(3) STg=8= 19
(4) oTT=8% 18

g & @ o1el T hi-a1
qqe aqor | gHE feEg & v

39.

(1) OSMIMOM
(2) VHRTRVH
(3) HIMOSTA
(4) AOVIVOA

P.T.O.



40. Voice of which of the following is

likely to have minimum frequency ?
(1) Baby Girl

(2) Baby Boy

(3) A Man

(4) A Woman

41. The force of 50 newton acting on

area of 50 cm2 will exert a

pressure of :
(1) 100 Pa
(3) 10000 Pa

(2) 1000 Pa
(4) 1Pa

42. The perimeter of a rectangular
photo frame 1s 20 cm. If its length

is 6 cm then its breadth will be :

(1) 4cm (2) 6cm
(3) 10 cm (4) 14 cm

43. One of the following is not a basic
component of a  rainwater

harvesting system.
(1) Catchment

(2) Delivery system
(3) Storage reservoir

(4) River system

Direction : (Question No. 44 and 45)
In the questions given below the question
figure is that a special relationship exists
between A and B. This relationship is
established in figure C and one of the
Select the
alternative figure that should replace the

alternatives figures.

question mark (?) in figure D.

MSMSS/9-2023

(14)

40. =1 § 9 fp9 arg =N & A
IATH B I AT 7

(1) Bl dqSH &l

(2) BIC TSh i

(3) gBY =N

(4) =i &

41. T 50 T &, 50 FEHET o

% SaFABA 9T AT ™, dl I8
IESRINCICIGRIILS I

(1) 100 Pa (2) 1000 Pa

(3) 10000 Pa (4) 1Pa

T ATABIX BIEbH 1 JiRHEY
20 T B | g% Ol @E 6 9l
2, dI g9 Alers art ¢
(1) 499 (2) 699
(3) 10 9+t (4) 14 941

F=fafad & 9w aw S
SEEE IR LS 2 B
T 2 |

(1) Sicye

(2) TaaXeT goTe

(3) SIS

(4) TSI T

e : (999 de 44 wd 45) =
T geAl H ued STpfa #H A X B H
T gAY GEy g g1 g @
3TMpfd C AR Jehfeass  oTpfaai H
Tk H wiUd © | 39 Jehiedes TR
AT HX, ST A D H g =ed (¢
H W o Fhell @ |

42.

43.

oo A

8 ap

~
~



44.

45.

46.

_H_ [ _H_I_| =
T T e |
A B C D
o == @ |5
® |- @ |-
e’ .
o " .o ?
[ ] [ ]
A B C D
1 - D
o

How many parallelograms are in
the given figure ?

DNERANERANEAN
DNEANERNEAN

1) 11 @) 12

(3) 16 (4) 18
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44.

45.

46.

_H_ [ _H_I_| =
T |
A B C D
o =] @ (5
@ |- @ |-
e’ .
o " .o ?
[ ] [ ]
A B C D
B
3 @ @ NG

IS 2 7

DNERANERNEAN
DNEANERNEAN

(2) 12

(1) 11

(3) 16 (4) 18

P.T.O.



47.

48.

49.

50.

The ratio of speed of a motorbike
50 km per hour and speed of cycle
20 km per hour is :

(1) 2:5
(3) 5:2

@) 5:1
4) 1:2

Which of the following can not be
charged easily by friction ?

(1) A Plastic Scale

(2) A Copper Rod

(3) An Inflated Ballon
(4) A Woollen Cloth

Which of the parallelogram has all
sides equal and diagonals bisect
each other at right angle ?

(1) Square
(2) Rectangle
(3) Rhombus

(4) Trapezium

The amounts of these resources
be
replenished by natural methods,

are less and will not

are ..ccceeeennee. :

(1) Biodegradable Resources

(2) Non-Biodegradable Resources
(3) Renewable Resources

(4) Non-Renewable Resources
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47.

48.

49.

50.

U Hiedzd NTeehl i 50 fRHl
gfq HeT 8 9 Uh dABfhd [oTae
wfir 20 R Ofq dHer B,

ST ®
(1) 2:5
(3) 5:2
=g & e =91 3

AT | STaAflR F&F fham S
ehdl 7

(1) <ieEss s 9T
(2) d@id # B

(3) e AT TSR
(4) ST FE=

@) 5:1
4 1:2

HFT-A GHAR GgYS B gl
Il qUER & 9 39S G0 Th
FEX I 90° UX FHIEHTSTA HId
g7

@) @

(2) AIa

(3) =G

() FHTE TgYS

ggld H B GErEdr sl "JE
i & SR Ul ufeharsdi
R g el 8 @Al 8,
e FEd ¢ |

(1) =R S4Emes

(2) SAFT=IRTOT FETET

(3) STdrenpYoli HHre

(4) TR HaTeT



51.

52.

53.

54.

Who wrote the book 'Gulamgiri' ?

(1) Savitri Phule

(2) dJyotirao Phule
(3) Mahatma Gandhi
(4) Ramabai

For which
m=8?

1) G™x57?)/52=53
(2) —(5™ x 57)/5% = 52
(3) (5™ x 5%/5% =53
(4) (5x5?)/5%2=53

of the following 1is

According to you what is a Hen’s
egg in the given options ?

(1) Tissue

(2) Organ

(3) Organ system

(4) Cell

Which of the following statements

correctly describes the organic

food ?

(1) Food crop grown without using
fertilizers is organic food.

(2) Food crop grown without using
weedicides is organic food.

(3) Food crop grown without using
pesticides is organic food.

(4) All of the above.

MSMSS/9-2023
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51.

52.

53.

54.

B

TAMRR GE&h Hl AT b
Hl 7

(1) |rfest Bt
(2) SHIfCE B
(3) HETHT e

(4) THETE

T H & e [T m %1 A
88 ?

1) 6™ x573)/5%=53

(2) —(5™ x 57)/5% =52

(3) (5™ x 5%/5% =53

(4) (5x57?/52=5°

HUh AJAR &I [aeedi d @
T 1 ST B 7

(1)

(2) T

(3) ST ToTT

(4) =HITRART

F=fafaa & & ®F-ar &aF

Sifrer @ed & @81 ATA Il

g7

(1) IAHI N IGART pT =T
e S dl @ed hEd
Sifaes et 2 |

(2) T ERUAERAIH &b IS
STH al Eed ®Bad Siideh
Ao B |

(3) Il & IGART & [T
IS S gl ©Ed wEd
Sifeep AT 2 |

(4) IURTHRT Gl |

P.T.O.



55.

The value of 997 is :

(1) (90)* + 2(90) (9) + (9)*
(2) (90)* - (90) (9) + (9)*
(3) (90)* + (9)*

(4) None of these

Direction (Question No. 56) Select the
water image of the given combination of

English alphabet and number.

56.

57.

58.

N4tQj3
1) NHOI3 (2 ULOIE
3) UHIDI3  (4) UHIO(E

In the question which of the
answer figures (1), (2), (3) and (4)
will complete the picture matrix ?

¢ |*|e

-0-

¢ |7 o

0| |?
O e ©|_¢
@ || @ -0

When the square of a number is
subtracted from the cube of the
it becomes 100.
Find the number :

(1) 1 (2) 2

(3) 4 4) 5

same number,

MSMSS/9-2023
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55.

R :

992 H1 A9 B :

(1) (90)% + 2(90) (9) + (9)*
(2) (90)*—(90) (9) + (9)*
(3) (90)* + (9)*

(4) 39 q PHE Tl

(We dEEr 56) SHAIUSH Ui

AR dEett & fRu U a9 @ S
sferfeier g |

56.

57.

58.

N4tQj3
(1) N¥Eo13
(3) Nt4013

g # IAX S (1), (2), (3)
AN (4) &7 § HE- ol ==
oArege (Afgerd) & got &l ?

¢ |*|e

¢ o
¢ ?

2) UHOIE
(4) UHIOIE

SIMEE

e
K3

9 Uk &A1 & a9 B I &l
% g9 d§ 9§ "o oA g, ar 100
T BT 8 | T ST Y

(1) @)

3 |—@ (4)

1 1
(3) 4

@) 2
4) 5



59. The period of maturity of
reproductive organs is called :

(1) Adolescence period
(2) Menstrual period
(3) Gestation period
(4) None of these

60. With respect to zones of candle
flame, choose the correct option :

(1) Outer zone of complete

combustion — Yellow

(2) Innermost zone of unburnt
Candle wax — Black

(3) Middle zone of partial

combustion — Blue
(4) Hottest Part — Black

Direction : (Question No. 61 and 62)
Which one of the answer figure would
occupy the next position in the question
figure, if they continue to change in

same order ?

61. Question Figures :

AR (AR AR ARA
O [ @ |ARR

@ [fAR] @ [AAR

MSMSS/9-2023

(19)

59.

60.

R

115 s e B e e R o v | e e | 3
Fedrl 8 -

(1) FRITEET &

(2) ST =k HIA

(3) gFEAEE

(4) 379 9 HIg Tl
el SaaTr & ded H, &
e I+ -

(1) 9ol =& &l 9-d &5 — Yl

(2) o1 SIell HHERNT H "9

ST & - Il
(3) 37Tk B8 IIAT HE ANT -
i

(4) 999 TH AN - FHl
(us &= 61 wd 62) AT ueT

SR THE A H dFad Al ST A
U IR STl H A ShIA-wl AT

Sfera

61.

I 9Ty ?

g STpferET

AR (AR AR ARA
o [R @ [pRR

@ [§AR[ @ |4RR

P.T.O.



62.

63.

Question Figures :

00 |otof-00|cot

0 [0~ @ 0«0
3) HIZIO\ @ |«0n

Which of the statements 1is/are

true in relation to equator ?

1. The equator passes through

the continents of South

America, Africa and Australia.

11. The equator passes through

thirteen countries.

1ii. There is only one major river

which crosses the equator

twice.
(1) Only 1ii
(2) Bothiandii
(3) Allj, 1i, 1ii

(4) Both ii and iii
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62.

63.

g STpferET
0~ |oto|-00|oot
@ [0 @ (0«0
(3) H[IO\ @ |+~00
e [ & Gdg H BHE A4

FAT FHT S T

I 9qHeg Y@ ST SR,
SR X AT AeTadt
g BT POl ¢ |

. ¥Heq @1 dXE I F B
ST ® |

iii. B TH YT TE T SN
YA @ Bl & TR U
Hl 2 |

(1) ad iii
(2) i3fTii =
(3) 9 i, i, iii

(4) ii M iii =T



64. The first English Factory was
established on the banks of which
river in 1651 AD ?

(1) Narmada
(2) Hugh
(3) Tapti
(4) Satluj

65. Which figure best represents the

relationship  between  Punjab,

Haryana and Hisar ?

@)

» @O
00

Direction : (Question No. 66 to 68) In
these questions a number/letter series is
given. In which one term is missing.
Find the missing number/letter, which
when placed at question mark (?), will
complete the series.

66. 4,7,12,21,2 ,71
(1) 29 (2) 40
(3) 44 (4) 38
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64. U ERAT BaFed 1651 2o
ffpe 4l & Y e g2 ?

(1) sear
(2) gl
(3) arwl
(4) TGS

gSiE, sREmm iR Rar & =
% HEY HI HHA-Gl AR g&IAT
Hc B 7

2)

» @O
00

fdsr : (UsT d@Er 66 § 68) I usHl
q ump dEI/RR fEar & TS ©
SEd uh 9% e 8| gel 9 /SEr
ST &, S U e (7) & e W)
TG 9T HEA! Bl YU HIl B |

65.

66. 4,7,12,21,? ,71
(1) 29 (2) 40
(3) 44 (4) 38

P.T.O.



67.

68.

69.

70.

5,515, 7,525
(1) 35
(2) 225
(3) 75
(4) 105

PAL, NZN, LBP, JYR, ?

(1) HCT

(2) KCQ

3) GCT

(4) ICS

Vijay 1s 18th from the left in the
row. He came 5 places to the left.
If there are 34 students in the row,

then what is his position from the
right now ?

(1) 22nd
(2) 16tk
(3) 23
(4) 24th
The

producing an identical cell or any

other
organism is called :

process of  artificially

living part or whole

(1) Tissue culture
(2) Cell biology
(3) Cloning

(4) Biotechnology
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67.

68.

69.

70.

5,5, 15,7, 525
1) 35
(2) 225
(3) 75
(4) 105

PAL, NZN, LBP, JYR, ?

(1) HCT

(2) KCQ

(3) GCT

(4) ICS

fos/a uwep o § 9@ @ 189
WM W 2| 98 U WH 9
maT | A dfeR ® 34 ®m E, ar

SHHET A9 IMW T HH-AT W
g7

(1) 224t
(2) 16at
(3) 23at
(4) 24aT
fpdl  |9®y iR ar e
S 9T SA¥ET EYol Sl

FEH BT H IO B Bl UERAT
FEA & -

(1) Sds dags
(2) IR s
(3) AT

(4) St sigAiTEpt
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5.

10.

11.

12.

13.

14.

15.
16.

17.

usHl % IO, I9X U=k H it @t
i@ @Ee U9 | goiaar wem & g,
= g ™= e o

O @ ® ®

AW B I ™1 SOX 99 "l Se, 9
IR A @ B A U 9 9 ©

© ® © @

g uh q STET @l B 9T 39 & Al AT
JAY Ad HAT ST |

B I
a1 &%

. X% HE U gRIE H TH A & g & e

el SFTE 9¥ &1 &1 |

.9l IOY Fad AT 9=k (OMR) 9¥ & SAfehd

H | AT IR AFYESD Hiehd B | I FEa
2g 29d % (Fhe wIS) H gAnT Mt B

. g% 99 & g Ru @ 9 fGeedt § 9@ S

fopeg & [T IOX =% (OMR) 9% Had TH &
gd H T TE H O @Ee 99 A TH
IR Iax AfPd FE B d” I/ FE@r A S
T B

. Al gEfRea &Y & 39 SR 95 @ HiST |

ST Ud IE U¥ HiE oY MY A @ |
AT HYAT ATHHE IR 9= H iR
W & AR == 7 o |

gs< R Td IAX IS 1 SFgEasE HART HY,
Fifeh R o aRRET d (Fa 9= gRae od
I GHAF B HHik H Brar i Rafa @ see)
g 797 G @< Sqa= TE Fears g
gsq gRAw /SR Uk H U T hHiw R
Al |@El e 9 e 9 § o |

Feft H gem B/ /HE W OHAA wEe b
HIARFT fopdl X sl a1gg amEl, giga o
BT HRTST &I gREEl, U9, HiEEd HBie,
FAFS(h SR a7 hAT ST WX hl Al
H A S AT ITET FIA B STGART S B

IREUGEE-RUIE IS | B LR C T L D R S|
gag-u= (U o) Rt |

He= relers a1 Fders @ [T ergHfa & fae
HIE AR FUAT W T 8BS |

SAFEI+Teh /EEqaTeTd Uiiehaleh bl IYANT aford 2 |

Rl Brad d gs-gRaE Td STO-USE H Hls
AT ST T HY |

G @ B WY, STl udien  oher /e
Blgd A Jd IO USh  hE-UIAETh Wl STAH
g T Al o9 A1 g GRAHT H A ST
THl |

5.

10.

11.

12,

13.

14.

15.
16.

17.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

. The candidate should ensure that the Answer Sheet is

not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.
Use of Electronic/Manual Calculator is prohibited.

No part of test Booklet and Answer-sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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Direction (Question No. 1) Select the

water image of the given combination of

English alphabet and number.

1.

3.

N4tQj3
1) UHOI3 (2 UHOIE
(3) UHDI3  (4) UTHOIE

In the question which of the
answer figures (1), (2), (3) and (4)

will complete the picture matrix ?

¢ |* |

¢ |7 o

¢ |?
O er| @ |_¢
@ || @ -0

The angle of incidence is equal to

angle of reflection :

(1) Always

(2) Sometimes

(3) Under Special Conditions

(4) Never

MSMSS/9-2023

(3)

R

Cc

(ue &= 1) Sl oA

AR dEett & fRu o Ea9e @ S
gicfeia Q)

1.

N4tQj3
(1) NO13
(3) U013

2) UHEOIE
(4) UHIOIE

g # SOX eTfEr (1), (2), (3)
AR (4) & § HE-A ol ==

sege (Afgere) B o A 7
¢ ¢
¢ o
¢ ?

IRIE

e
K3

A I, 9Udd_ HioT  H
FET BT 8

(1) &a
(2) HHT-HHAT
(3) fagy aRkRafaar &

(1) @)

3 @ (4)

(4) FHAT

P.T.O.



C

(Question No. 4 and 5)
Read the information given below and

Direction :

answer the questions based on it.

P,Q, R, S, T and U are six friends sitting
in a circle facing each other. P sits
between S and Q and U sits between R
and T. R is third to the left of Q.

4. Who 1s sitting between P and R ?

1 T 2 Q
(3) S 4) U

5. Who is sitting between Q and U ?
1) T 2) R
3 P 4) S

6. First World War started in :
(1) 1915 AD (2) 1916 AD
(3) 1918 AD (4) 1914 AD

7. The four major components of
environment are given below.
Match the following with their
exact relation.

Relation

Air

Life

Water

Solid Rocks,

Outermost

Component
Lithosphere 1.
Hydrosphere ii.

Atmosphere 1iii.

Ll

Biosphere 1v.
layer of earth
called crust

(1) 1-iii, 2, 3-ii, 4-iv
(2) 1-ii, 2-iii, 8-1, 4-iv
(3) 1-iv, 2-iii, 8-, 4-ii
(4) 1-iv, 2-ii, 8-, 4-iii

MSMSS/9-2023

(4)

e - (U dE& 4 o 5) A= A TR
SEHI Bl 9eHT 39 g SATRT T8AT
% IAY dT |

P,QR,S, T 3iX Us: 3 U T &
AMHA-9MH Th M 89X § 92 21 P, S
M QB IF TN U, RIRT & =
T Je1 BI1 R, Q & o SN e 2

4. P AR R & &9 &9 Je1 & 7

1T 2) Q
3) S (4) U
5. Q X U & < & a1 & °
1) T 2) R
3) P (4) S

6. TIH a9 g "I ge ¢
(1) 191530 F (2) 191680 H
(3) 191830 H (4) 191480 H

7. QFEROT & IR Y@ HTHh A=
ffu @ B FeAfafEad &1 39
T dafaa § gAfaa i |

q<h ey

1. TeHsd i gy

2. SaHSA i, Stas

3. argHsd iii. STt

4. Jad=d iv. S, FgeH,
gedl S qIH
Tl A e
HEC hel Sl
2

(1) 1-iii, 2, 3-ii, 4-iv
(2) 1-ii, 2-iii, 8-1, 4-iv
(3) 1-iv, 2-iii, 8-, 4-ii
(4) 1-iv, 2-ii, 8-, 4-ii



8. Global warming can result in

10.

many serious alterations to the
Which  of the

wrong in

environment.

statements 1is/are

relation to global warming ?
1. Adverse Impact on health
ii. low sea level

11. Threats to biodiversity
(1) Only i1

(2) Both 1 and i1

(3) Allj, i, ii1

(4) Both ii and iii

Which of the parallelogram has all
sides equal and diagonals bisect

each other at right angle ?

(1) Square
(2) Rectangle
(3) Rhombus

(4) Trapezium

Which of the following can not be
charged easily by friction ?

(1) A Plastic Scale

(2) A Copper Rod

(3) An Inflated Ballon
(4) A Woollen Cloth

MSMSS/9-2023

(5)

C

8. TS T & aRemHEEEg

10.

qIEReT H %5 IHR 9REdd 8r
T & | Al aiHT & e J
HEA-TT,/9 FIT TAT & |

i Qe 9 g0 99 ™

. =1 99z wX

iii. St fafgeaar & e a@aa
(1) dad i

(2) i iii =T

(3) a1, ii, iii

(4) ii AR ii =T

HFT-A GHRY TGgYS g9l
o ga € 9 Iah Aol o
FEX I 90° YT THIEHTSTA HYd
g7

(1) =

(2) srIda

(3) TGS
(4) FHT TGS
Frefafag & e =991 &
I | AR 78 fhar S
bl 7
(1) <Rees 1 AT
(2) T F B
(3) T AT T
(4) S g
P.T.O.
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Direction : (Question No. 11 and 12)
In the following questions, choose a
figures amongst the four alternatives
which when placed in question mark (?)
space of figure (X) will complete the
pattern.

11. m

?

(x)

(1) ) &
3 @) &

12.

N\ a
(1) %ﬂ (2)

3) @ (4)

13. Who wrote the book 'Gulamgiri' ?

(1) Savitri Phule

(2) dJyotirao Phule

(3) Mahatma Gandhi

(4) Ramabai
MSMSS/9-2023

(6)

s : (97 ¥ 11 ug 12) Frafred
ged H IR gl H " Uh STl
A, E 9 Agpla X) § us =re
(?) % M 9T @ AW @ g ot &
ST |

11. m

?

(x)

(1) ) &
3 ) &

7B

12.

X)

\" A
M 2_‘@ @

3) @ (4)

13. “AERREY g&ih @l =1 fhad
7
(1) @rieEl g
(2) SHIeRTE HA
(3) HETHT TTe

(4) THETE




14.

15.

16.

17.

Who established Shantiniketan ?
(1) Ravindra Nath Tagore

(2) Devendra Nath Tagore

(3) Satendra Nath Tagore

(4) Willian Jones

Voice of which of the following is
likely to have minimum frequency ?

(1) Baby Girl
(2) Baby Boy
(3) A Man

(4) A Woman

At the time ............ between 3:00
and 4:00, both the hands will cover
each other.

4
1) 3:16—
ey 1

7
2) 3:15—
@) 1

4
3) 3:10—
) 1

5
4) 3:05—
(4) 1

When the square of a number is
subtracted from the cube of the
same number, it becomes 100.

Find the number :
1) 1 2) 2
3) 4 4) 5

MSMSS/9-2023

(7)

14.

15.

16.

17.

C

MTfTeba= sl oAl fhea= &l ?
(1) == MY

(2) IA=ATT MY

(3) TAEATT MY

(4) faferEH St

= & ¥ 9 arg @ %l STahRa
IATH B I AT 7

(1) BIET TSkl Hl

(2) Bl ASH hi

(3) gBY i
(4) &= &0

%

3

A g

4
1) 3:16—
ey 1

7
2) 3:15—
@) 1

4
3 3:10—
) 1

5
4) 3:05—
(4) 1

ST U AT & a1 &I I G &
$ g9 ¥ 9 ge™dr Sar g, o 100
I BT & | §&T S Y

1 1
(3) 4

@) 2
4) 5

P.T.O.



18. Which figure best represents the

19.

20.

relationship between Fruit, Red
and Shirt ?

@)

, OO
O

The
producing an identical cell or any
other
organism is called :

process  of  artificially

living part or whole

(1) Tissue culture
(2) Cell biology
(3) Cloning

(4) Biotechnology

If all the vowels are removed from
the English alphabets, then which
will be the eighth letter to the
right of the fifth letter from the
left ?

1) M
(3) P

@) N
4) Q

MSMSS/9-2023

(8)

18. ®d, A AR HHST & I &
daeg @ HE-G TR Heia
HA © 7
2)

19.

20.

, OO
O

el 9ueg  HifdEeRr AT Rl
Sifgd AnT SAYer E@Yel Silg
FEH T H IO HIA Bl ARAT
FHedrl 8 -

(1) Sas% dad+

(2) =HifERT ==

(3) AT

(4) Sig dEatE

e gl Wi & AU FeiHEn
q ger fRar S, @ S@ | ured

3 & U ISl 3T BT
BHT 7

1) M
(3) P

@) N
4 Q



21.

22.

23.

24.

The perimeter of a rectangular
photo frame is 20 cm. If its length
1s 6 cm then its breadth will be :

(1) 4cm (2) 6cm
(3) 10 cm (4) 14 cm

A rabbit walks 1 kilometer in 2
hours. After every kilometer he
rests for 20 minutes. How much
time will it take to cover a

distance of 3.5 kilometers ?
(1) 8 hours (2) 7 hours
(3) 6 hours (4) 5 hours

Four friends A, B, C and D are
A and B are
partners. D is facing North. If A is
sitting to the left of D, then who is
facing South ?

playing cards.

1) B
3 A

@) C
(4) D

Select the water image of the
given figure (X) :

g

o Lo\ . (@
o/ NG
"B 2

MSMSS/9-2023

(9)

21.

22.

23.

24.

Cc

Tk SRR HIEhH &1 IiRAY
20 I B | A% EE @EE 6 A
g, dI 39 A= Bnl
(1) 49 (2) 699
(3) 10 9= (4) 14 =

Th G 2 S H UFh fhadiex
Id] 2| 9% [halHley & 9.
ge 20 faee fgsma &=ar 21 3.5

o= |9 TR 7

(1) 85 (2) 74

(3) 65 (4) 55

IR &g A, B, C X D I
T W Bl A X B Uy H
g &1 D & g IR B
T B Ife A, D @ IR eX
Jo1 &, @ Feaew gE afeer @
AR T ?

(1) B 2) C

(3 A 4) D



Cc

Direction : (Question No. 25 and 26)
In each of the following figures numbers
are written according to some patterns.
missing. Find the

One number is

missing number that replaces the
question mark (?).
25. 248 1
121 2
58 5
? 12
(1) 23 2) 27
(3) 29 4) 25
PG
(1) 32 (2) 34
3) 14 (4) 24
27. Who is the chairperson of Rajya

Sabha ?

(1) Governor

(2) Vice-President
(3) Prime Minister
(4) President

28. Which one number is wrong in

the number series ?
5,13,39, 160, 805
(1) 5 (2 39
(3) 160 4) 13

MSMSS/9-2023

(10)

e : (I d@em 25 wd 26) = &
TS UH SR A Uk MiREd #H
AR HB deAW et 1§ €1 g A
Uh de g9 o | g9 @ 5 &Y,
Sttoued et (7) & & 49X IugE
gl |

25. 248 1
121 2
58 5
? 12
(1) 23 (2) 27
(3) 29 (4) 25
26.
(1) 32 (2) 34
(3) 14 (4) 24
27. TSIEHAT HI AT I 81 & °?
(1) =9I
(2) IS
(3) TE=HAT
(4) Tregafa
28. AT “fge H HE-GI TH GEA
TIAT T ?
5,13, 39, 160, 805
1) 5 (2) 39
(3) 160 (4) 13



Direction : (Question No. 29 and 30)
In the questions given below the question
figure is that a special relationship exists
between A and B. This relationship is
established in figure C and one of the
alternatives figures. Select the
alternative figure that should replace the

question mark (?) in figure D.

SO o
o e |

A B C D

@O 17 :I ) l:n:l

@ 5= @ |3-

o’ .

30. . : c. ')
(] [ *
A B C D
B -

3 @ @ NG

MSMSS/9-2023

(11)

Cc

fdsr ¢ (9 d@EAr 29 wed 30) = RRu
T Ul H U ST # A AR B H
up 9w @y g 21 g8 @y
apfa C SR Jepfeass oTpfaal & &
U H iU 8| 39 JAhiede STRT B
I &, S ARl D # A Fea (?)
FH TIE A Feball @ |

SO o
o e |
A B C D
@ :I 2) l:n:l
(3) ':H (4) :H:I

o’ .
> -asl ] 9
L] [ *
A B C D
B
3 @ @ NG

P.T.O.
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31.

32.

33.

How many parallelograms are in
the given figure ?

DNERANERNEAN
DNERANERNEAN

@) 12
(4) 18

(1) 11
3) 16

The first English Factory was
established on the banks of which
river in 1651 AD ?

(1) Narmada (2) Hugh

(3) Tapti (4) Satluj

Which of the statements 1is/are

true in relation to equator ?

1. The equator passes through
the South

America, Africa and Australia.

continents  of

11. The equator passes through

thirteen countries.

There is only one major river
which the

twice.

111.

crosses equator

(1) Only 111
(2) Bothiandii
(3) Alli, 11,111

(4) Both ii and iii

MSMSS/9-2023

(12)

31.

32.

33.

& M ARl H RRaA @HiAR
agIT T 7

DNERANERNEAN
O NN

2) 12
(4) 18

(1) 11
3) 16

gy SRS el 1651 o H
fopg &l & fpY g g8 ?

(1) -THer
(3) dr=ir

(2) it

(4) QIS

qre Y@l & deg H B ard

AT TS 7

I 9qHeg Y@ ST STHIE,
ABIH AR AT HeTEMi
g BT POl ¢ |

. ¥Heq @1 d¥E I F B
oAl B |

iii. I WH ggE & B S
YA @ Bl & TR IR
H 2 |

(1) o iii

(2) i3fTii =

(3) | 1, ii, iii

(4) ii A iii =T



34.

35.

36.

37.

The amounts of these resources
be
replenished by natural methods,

are less and will not

are .............. .

(1) Biodegradable Resources

(2) Non-Biodegradable Resources
(3) Renewable Resources

(4) Non-Renewable Resources

In which Article of the Indian
Constitution every citizen has been
given fundamental right to life ?

(1) Article 21  (2) Article 22

(3) Article 19 (4) Article 18

One of the following is not a basic
component of a
harvesting system.
(1) Catchment

(2) Delivery system

rainwater

(3) Storage reservoir
(4) River system

Which figure best represents the

relationship  between  Punjab,

Haryana and Hisar ?

@)

» @O
¥ole

MSMSS/9-2023

(13)

34.

35.

36.

37.

C
gl H 59 d9redi @t |@E
difg ® ofX urpfre  ufshamsdi
R g9 Tl 8 @6l 8,
S Fed ¢ |
(1) Tr=epYeT e
(2) ATTHIBICT FETET
(3) STARIeT dare=
(4) RO HETET
ARAE dlaa & g oT=se H
qdsh AN bl Siad 1 Al
arferep fear = ' ?

(1) =8 21 (2) IT=ue 22
(3) TTWE 19 (4) == 18
frefelRag § @ ws awi o«
SEER LIS 2 B <
TET B

(1) STaue

(2) fIaeT gomet

(3) ST

(4) &I oTel

gore, efErn iR e % a9
% HET HI HHA-Gl AR gaIAT
FIT B 7

2)

» DO
00

P.T.O.



38. Number 1 to 10 are written on ten
separate slips (one number on one
slip) kept in a box and mixed well.
One slip is chosen from the box
without looking into it what is the
probability of getting a 1-digit

number ?
11 @) 0
(3) 1\10 (4) 9\10

39. The value of 99%is :
(1) (90)* + 2(90) (9) + (9)*
(2) (90)*—(90) (9) + (9)
(3) (90)* + (9)°
(4) None of these

40. Which of the following is not a
member of solar system ?

(1) An asteroid

(2) A Satellite

(3) A Constellation
(4) A Comet

Direction : (Question No. 41 to 43) In
these questions a number/letter series is
given. In which one term is missing.
Find the missing number/letter, which
when placed at question mark (?), will
complete the series.

41. 4,7,12,21,? ,71
(1) 29 (2) 40
(3) 44 (4) 38

MSMSS/9-2023

(14)

38.

39.

40.

41.

T o 10 Tb H G&ATA B 9
S-S gl g gy T
T H ST T g TSI d¥e
fer fRar ) e # 9§ fo
3@ UF Uyl Ml T2 UE 3w
P & M H R TiieRdn
R ?

11 2) 0
(3) 1\10 (4) 9\10
992 T A 2 :

(1) (90)* + 2(90) (9) + (9)*

(2) (90)*—(90) (9) + (9)*

(3) (90)” + (9)*

(4) 379 | Hig &I

1 & ¥ 39 9 gR@ax &0
qeey 787 5 7

(1) g=3re

(2) ST

(3) arHTsSd

(4) g7y

FEer ¢ (I EEr 41 § 43) = ueAl
d um dEI/SR fEar & TS B
e o e gu 21 g9 9en /e
ST HY, S U fBrew (7) & W 9
TEH 9T ST Hl YOl BT 8 |

4,7,12,21,? ,71
(1) 29 (2) 40
(3) 44 (4) 38



42.

43.

44.

45.

46.

5,5,15, 2, 525
(1) 35 (2) 225
(3) 75 (4) 105

PAL, NZN, LBP, JYR, ?
(1) HCT 2) KCQ
(3) GCT (4) ICS

Vijay 1s 18th from the left in the
row. He came 5 places to the left.
If there are 34 students in the row,
then what is his position from the

right now ?
(1) 22nd (2) 16th
(3) 23rd (4) 24th

Which of the following set of
letters will look the same in the
mirror ?

(1) OSMIMOM
(2) VHRTRVH
(3) HIMOSTA
(4) AOVIVOA

For which
m=87?

of the following is

1) 6™ x573)/5%=53
(2) —(5™ x 57%)/5% = 52
(8) (6™ x 53/52 =52

(4) (56x532)/52=5°
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(15)

42.

43.

44.

45.

46.

5,5,15, 2, 525
(1) 35
(3) 75

(2) 225
(4) 105

PAL, NZN, LBP, JYR, ?
(1) HCT 2) KCQ
(3) GCT (4) ICS

fosig uwsp dfem # 9@ @ 189
WM 9T 2| 98 U™ WE 9l
maT| g dfe ® 34 w1 B, ar
SHHT I ITM A HE-AT T
g7

(1) 22at

(3) 23ar

(2) 16aT
(4) 24at
ffrefafag & @ e1el &1 S=-ar
qge aqor § 9HE feErg & 7

(1) OSMIMOM
(2) VHRTRVH
(3) HIMOSTA
(4) AOVIVOA

M= H 9 pas T m Hr A5
88 7?

1) 6™ x573)/5%=53
(2) (5™ x 57)/5% =52
(8) 6™ x 5%)/52 =5
(4) (56x52)/5%2=5

P.T.O.



C (16)

Direction : (Question No. 47 and 48) st @ (U E@Em 47 ud 48)
In the following questions a figure (X) is FrfaRaa gt & oTpfa (X) & 8 =4
given. Select the option which resembles AT I [Ghcd B =TT Y, S AR
the mirror image of the figure (X). X) & advT gfafeE Sar e 2 |
47. 417.
(e) (e)
(x) (x)
[5) [5)
(1) (1)
(2) ° (2) °
3) 3)
0 0
(4) (4)
[9) [9)

48. %\
P

FITITIIIT

48. %\
P

FITITIIIT

MSMSS/9-2023



49. If in a year the Republic Day was
celebrated on the 4th Saturday of a
month, then what was the day of
the week on the 1st of that month ?

(1) Monday (2) Tuesday
(3) Wednesday (4) Sunday

50. With respect to zones of candle
flame, choose the correct option :

(1) Outer zone of complete

combustion — Yellow

(2) Innermost zone of unburnt
Candle wax — Black

(3) Middle zone of partial

combustion — Blue

(4) Hottest Part — Black

Direction : (Question No. 51 and 52)
Which one of the answer figure would
occupy the next position in the question
figure, if they continue to change in
same order ?

51. Question Figures :

AR AR ARR | ARR
MRl o (R
@ [§RR] @ [AR

MSMSS/9-2023

(1)

(17)

49.

50.

R -

Cc

IiE Bl ad o Raw 78 &
MY AT B/ FAT AT AT, @A
I HEM FH Usel qE
e & HF-ar &7 a1 ?

(1) a=ar (2) HITAAX

(3) gHaR (4) IfEEr
gl H SaET & 9ed o, g
e I+ -

(1) 9ol =& & 9 d & — Yl

(2 ToFT St HiEExl ® a9y

AP & - HIal
(3) SAIRF TB dTT HEY AN -
SIr

(4) 99 TH 9RT - FHT

(w7 &= 51 wd 52) AT e

STl 9 A H Fad dl ST hH

U IR STl H A ShIA-wl AT
Siera T qieE ?

51.

g9 ST

AR AR ARR | ARR
MRl @ (R
@ [§AR] @ [AR

(1)

P.T.O.
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52.

53.

54.

Question Figures :

00— |oto|—0|oot

1) [Oe=

@ (0«0

(3) EI

@ |+~00

The period of maturity of

reproductive organs is called :
(1) Adolescence period

(2) Menstrual period

(3) Gestation period

(4) None of these

According to you what is a Hen’s

egg in the given options ?
(1) Tissue

(2) Organ

(3) Organ system

(4) Cell

MSMSS/9-2023

(18)

52.

53.

54.

e TR -
0+ |oto|—[00|oot

(CVINN (0 o e

@ (0«0

@ |00

USE ST @ aiRuerdr i STafe
Fedrl 8 -

(1) TeRsTRIE®n hiet

(2) ST =k HIA

(3) gerHTEE

(4) 579 &/ B &l

HUh AR &I i d @
g 1 SAST 4T & 7

(1) I

(2) ST

(3) ST goTredt

(4) =pifRERT



55.

56.

57.

58.

Which of the following statement
about Rhizobium is true ?

(1) Rhizobia are bacteria that can

live in the soil

(2) Rhizobia are bacteria live in
nodules formed on the roots of
legumes.
Rhizobia
obtaining nutrients from the

bacteria

3)

are

plant and producing nitrogen
in a process called biological
nitrogen fixation.

(4) All of the above statements
about Rhizobium are true.

Which
example of Thermoplastic ?

(1) Nylon

(2) Bakelite

(3) Melamine

(4) Vulcanized Rubber

of the following is an

Which metal is used to galvanize
Iron ?

(1) Chromium
(2) Magnesium
(3) Zinc

(4) Copper

The force of 50 newton acting on
area of 50 cm? will exert a

pressure of :
(1) 100 Pa
(3) 10000 Pa

(2) 1000 Pa
(4) 1Pa

MSMSS/9-2023
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55.

56.

57.

58.

C

TEeleEy & 9] ° fFrefaraa §
T BT 91 FIT FF & 7

(1) TEshfeen sfary & st fed
¥ Y& 9&d 2|

(2) TESAEAT SEAT9] € ST &l @l
SEl 9 g1 el § w2

(3) UESAfeEAT Siemey € S odidl |
qiYes I 9T Hd & AR
Sifdeh ABeeT ResoT
M GEhAT & EART ATSSIST
FH IR B ¢ |

(4) TESIEEE & R H Sue
e FHUT T 2 |

g9 9§ HH-9T Ul T
IEEIT § 7

(1) e

(2) btz

(3) TS

(4) d<THAESS X

SIEHICI IR N ES SR B s |5 -ARd)
fope ST B 7

(1) spifeEw
(2) BifarEm
(3) ik

(4) gt

gfe 50 e ad, 50 e aif
% SFA%BA U AT S, Al g8
fopa=T S SmaI P

(1) 100 Pa (2) 1000 Pa
(3) 10000 Pa  (4) 1Pa

P.T.O.



59.

60.

61.

62.

In which year did the Permanent

Settlement come 1into force 1n

Bengal ?
(1) 1796 AD  (2) 1794 AD
(3) 1793 AD  (4) 1795 AD

Which of the following statements
correctly describes the organic
food ?

(1) Food crop grown without using
fertilizers is organic food.

(2) Food crop grown without using
weedicides 1s organic food.

(3) Food crop grown without using
pesticides is organic food.

(4) All of the above.

Which of the following created
Indian Constitution ?

(1) Indian Parliament

(2) Constitutional Assembly
(3) Dr. Ambedkar

(4) British Parliament

If SYSTEM is written as OVQIBR
in a certain code language, how
will NEARER be written in that
code language ?

(1) LBPNBP  (2) WBLNBP

(3) PGTTGP  (4) MCNOCQ
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59.

60.

61.

62.

T H WE FlEs e AR
g 7

(2) 179420
(4) 179520

(1) 1796 2o
(3) 1793 2o

Fefafga & 8§ ®F-ar &aF

Siferh @1ed H1 @& AT Bl

g7

(1) IATHI H IGART Fp =T
IME S gl ©Ed hwEd
Sifarep AT 2 |

(2) M1 ERUqERAIR & IS
ST dlell ©ed %A Siide
A B |

(3) BRI & SYART & =T
e S dcl @ed hEd
Sifaep AT 2 |

(4) ST F4T |

R diga fas arr a=m=n
T ?

(1) AR d98 arxT

(2) Gigg™ |41 31

(3) Efo IT=EHT &

(4) Torfesr 993 8T

I fhEr il 9T § SYSTEM
% OVQIBR fo/@r <irar &, ar I&
gicbfass 9T § NEARER &0 foha
U forar S ?

(1) LBPNBP  (2) WBLNBP

(3) PGTTGP (4 MCNOCQ



63. M is the wife of S. Q is the wife of
R. S is the son of Q. P is the son of
M. How is R related to P ?
(1) Father (2) Brother

(3) Grandfather (4) Uncle

Direction : (Question No. 64 and 65)
The given figure (X) is followed by four
figures (1), (2) ,(3) and (4) , such that (X)
is embedded in one of them. Trace out
the correct alternatives.

64. XZ

(

(1)

3) % (4) oy

65. /\/\

x)

(x)
M @ @ %%9
®) g @ _%7[[

MSMSS/9-2023

o—

(21)

Cc

63. M,S &I gl 81 Q, R =l gl &1
S, Q ® YA 21 P, M & G B
R &% P& 1 997 & 7
(2) «r

(4) =r=n

(1) fOar
(3) aTaT

e : (U9 @& 64 wd 65) far =
e (X) =3 == ), 2), 3) 3TX (4) #
T TH H URemH B, 39 aXe (X) HH
o fpe e ® fafed B @@l faweq @t

TEE 6 |
64. XZ
x)
ey

3) % (4)

65.

z

(x)

(1)

3)

| |

@)

@)

(4)

P.T.O.



C

66.

67.

68.

69.

70.

A person is trying to climb a pole
60 feet high. He climbs 6 feet in
one minute, but slips and comes
down 4 feet, then how many
minutes will it take him to reach

the top ?
(1) 32
(3) 27

(2) 28
(4) 34
If a solid cuboids of dimensions :
8cm X 6cm X 4cm 1s cut into
smaller cubes of side 2 cm each.

What is the number of small cubes
thus obtained ?

(1) 24
(3) 96

(2) 48

(4) 192

Ozone depletion is caused due to
increase in level of :

(1) Carbon monoxide

(2) Chlorofluorocarbon

(3) Water vapour

(4) Oxygen

The ratio of speed of a motorbike

50 km per hour and speed of cycle
20 km per hour is :

1) 2:5 2 5:1

3) 5:2 4) 1:2

When did Nepal become
democratic after abolition of
Monarchy ?

(1) 2006 (2) 2007

(3) 2008 (4) 2009

MSMSS/9-2023
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66.

67.

68.

69.

70.

Tk AT 60 Hie HI @& UX
T H YT HY (& 21 98 THh
e & 6 %ic =g SIar 2, At
P T 4 Hie T ST T B,
M HUX % dgad # 9 fRae
e @@ v

(1) 32 2) 28

(3) 27 (4) 34

afg  fFet o, Rraer S
8cmx 6cm X 4cm B, @ 2cm
ISl ard Bie-8l¢ 841 & &9 F
Flel AT 21 9 TR BIS 41
Pl G fpa- ® °

1) 24 () 48

(3) 96 (4) 192

TS RiFAHeT & «@X H gis
T BT Bl & :

(1) FHEA AARTFIES

(2) FAUFNIIHEA

(3) SieT arsq

(4) TS

T Hiedzsd NTeedhl i 50 fRH
gfer Her ® 9 uw asied e
T 20 fEt ufa d@er ®, @

ST ®

1) 2:5 @ 5:1

3) 5:2 4) 1:2

U1 ST Bl G HH B 9IS
Aha= &S I 7

(1) 2006 (2) 2007

(3) 2008 (4) 2009
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5.

10.

11.

12.

13.

14.

15.
16.

17.

usHl % IO, I9X U=k H it @t
i@ @Ee U9 | goiaar wem & g,
= g ™= e o

O @ ® ®

AW B I ™1 SOX 99 "l Se, 9
IR A @ B A U 9 9 ©

© ® © @

g uh q STET @l B 9T 39 & Al AT
JAY Ad HAT ST |

B I
a1 &%

. X% HE U gRIE H TH A & g & e

el SFTE 9¥ &1 &1 |

.9l IOY Fad AT 9=k (OMR) 9¥ & SAfehd

H | AT IR AFYESD Hiehd B | I FEa
2g 29d % (Fhe wIS) H gAnT Mt B

. g% 99 & g Ru @ 9 fGeedt § 9@ S

fopeg & [T IOX =% (OMR) 9% Had TH &
gd H T TE H O @Ee 99 A TH
IR Iax AfPd FE B d” I/ FE@r A S
T B

. Al gEfRea &Y & 39 SR 95 @ HiST |

ST Ud IE U¥ HiE oY MY A @ |
AT HYAT ATHHE IR 9= H iR
W & AR == 7 o |

gs< R Td IAX IS 1 SFgEasE HART HY,
Fifeh R o aRRET d (Fa 9= gRae od
I GHAF B HHik H Brar i Rafa @ see)
g 797 G @< Sqa= TE Fears g
gsq gRAw /SR Uk H U T hHiw R
Al |@El e 9 e 9 § o |

Feft H gem B/ /HE W OHAA wEe b
HIARFT fopdl X sl a1gg amEl, giga o
BT HRTST &I gREEl, U9, HiEEd HBie,
FAFS(h SR a7 hAT ST WX hl Al
H A S AT ITET FIA B STGART S B

IREUGEE-RUIE IS | B LR C T L D R S|
gag-u= (U o) Rt |

He= relers a1 Fders @ [T ergHfa & fae
HIE AR FUAT W T 8BS |

SAFEI+Teh /EEqaTeTd Uiiehaleh bl IYANT aford 2 |

Rl Brad d gs-gRaE Td STO-USE H Hls
AT ST T HY |

G @ B WY, STl udien  oher /e
Blgd A Jd IO USh  hE-UIAETh Wl STAH
g T Al o9 A1 g GRAHT H A ST
THl |

5.

10.

11.

12,

13.

14.

15.
16.

17.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

. The candidate should ensure that the Answer Sheet is

not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.
Use of Electronic/Manual Calculator is prohibited.

No part of test Booklet and Answer-sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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3. 39 U WX gl SHAfehd i Ud IOX TEeh G
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TART HX | AT gA-GRIB HT ITART FHIA T
IO U B WA H FEEl S | §9Y F9F
gRawr @< qarT &l B i

4. 7 i gFftaa X o 6 usd gRAw HHiE SiR
S USE HH% UH & 8| TR Fe f= B @
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Al gAY gsA-gRAHE AR IO d=d A &
e [Fieteh bl gId ST YA |
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Note : Read other remaining instructions given on the last

page of this Booklet.



(2)
I% $E % 7T/ FOR ROUGH WORK




1. Which of the following is not a

member of solar system ?
(1) An asteroid

(2) A Satellite

(3) A Constellation

(4) A Comet

The  process of  artificially

producing an identical cell or any

(3)

. TpEr 9HEY HifRE

D

1. =1 # § 9 9 qRar &

qe JE@f e 7
(1) =
(2) ITE
(3) dRHTSH

(4) gFhg

ar  fepelt
Sfifad AWT Stger 9ol Sfd

other living part or whole FEH ®Y H IU B Dl UERAT
organism is called : FeANl © ¢
(1) Tissue culture (1) Has dag=
(2) Cell biology (2) wHIferERT ==
(3) Cloning (3) FAT
(4) Biotechnology (4) St At
. When did Nepal become . A9 TSI B G B b d.
democratic after abolition of b= kel ST ?
Monarchy ?
(1) 2006 (1) 2006
(2) 2007 (2) 2007
(3) 2008 (3) 2008
(4) 2009 (4) 2009
Direction (Question No. 4) Select the fFesr @ (I deEr 4) SIS o

AR dEeTl & Ry T d@hee & S|

water image of the given combination of

English alphabet and number. EISIEE] gﬁl’QI
+ N4tQj3 + N4tQj3
1) NFE013  (2) NHEOoIE 1) N¥E013  (2) U¥ore
(3) NIEDI13 (4) NI100¢E 3) UTEO13 (4) UTI0I1¢E

MSMSS/9-2023 P.T.O.



5. In the question which of the
answer figures (1), (2), (3) and (4)
will complete the picture matrix ?

¢ |* |
¢ 7o

d |2

O er| @ |_¢
@ || @ -0

Direction : (Question No. 6 to 8) In

these questions a number/letter series is

given. In which one term is missing.
Find the missing number/letter, which
when placed at question mark (?), will

complete the series.

6. 4,7,12,21,? ,71
(1) 29 (2) 40
(3) 44 (4) 38

7. 5,5,15,?,525
(1) 35 (2) 225
(3) 75 (4) 105

8. PAL, NZN, LBP, JYR, ?
(1) HCT ) KCQ
(3) GCT (4) ICS

MSMSS/9-2023

5. Ued H IOX STfAt (1), (2), (3)
AR (@) § q IE-O Ipla =
oArege (Afgerd) & gt &l ?

¢ .

| ?

IRIE

(1)

@ | _e
® €| @ @

fdsr : (U977 @& 6 | 8) = ueAl H
Uh AT/ AET Eer & T8 2 e
ThH U gl 8| 9 deA/HeR
HL, S g e (7) & w=&" 9X @A
U AT I GO HIAT & |

6. 4,7,12,21,? ,71
(1) 29 (2) 40
(3) 44 (4) 38

7. 5,5,15,?,525
(1) 35 (2) 225
(3) 75 (4) 105

8. PAL, NZN, LBP, JYR, ?
(1) HCT 2) KCQ
(3) GCT (4) 1CS



9.

10.

11.

Vijay is 18th from the left in the
row. He came 5 places to the left.
If there are 34 students in the row,

then what 1s his position from the

right now ?

(1) 22nd (2) 16tk

(3) 23rd (4) 24th

The period of maturity of

reproductive organs is called :
(1) Adolescence period

(2) Menstrual period

(3) Gestation period

(4) None of these

Which figure best represents the
relationship between Fruit, Red
and Shirt ?

@)

OO
O

(4)

MSMSS/9-2023

(5)

9.

10.

11.

D

fosg uwep del H 9@ @ 189
WM 9T B g8 Ui W|E 9
T Ife dfea # 34 ®w= g, ar
SHHET A9 TMW T HHA-AT WIH
g7

(1) 22at
(3) 23at

(2) 16at
(4) 24at

U ST ahl aRuedr sl 3Tarer
FHEdA B ¢

(1) TRSTIRTEEIT <hlct
(2) AT =h BT
(3) YTl

(4) =5 | FE 7B

B, oA ST HHST H I B
geg HB HEA-Gl AR &R
FT B 7

2)

OO
O

(4)

P.T.O.



12. Which
letters will look the same in the

of the following set of

mirror ?
(1) OSMIMOM (2) VHRTRVH
(3) HIMOSTA (4) AOVIVOA

13. In which year did the Permanent

Settlement come into force 1n
Bengal ?
(1) 1796 AD

(3) 1793 AD

(2) 1794 AD
(4) 1795 AD

Direction : (Question No. 14 and 15)
Read the information given below and
answer the questions based on it.

P,Q, R, S, T and U are six friends sitting
in a circle facing each other. P sits
between S and Q and U sits between R
and T. R is third to the left of Q.

14. Who is sitting between P and R ?
1T 2 Q
(3 S 4 U

15. Who is sitting between Q and U ?
1T 2) R
(3 P (4) S

16. If a solid cuboids of dimensions :
8cm X 6cm X 4cm 1s cut into
smaller cubes of side 2 cm each.
What is the number of small cubes

thus obtained ?

(1) 24

(3) 96
MSMSS/9-2023

(2) 48
(4) 192

(6)

12. =fafag § & ofel &1 Si=-4r
qge aqor § 9HE e & ?

(1) OSMIMOM (2) VHRTRVH
(3) HIMOSTA (4) AOVIVOA

13. ST H TWE] glEs ®e A
g7 7
(1) 1796 o (2) 1794 2o
(3) 17930 (4) 179530
s - (F9 dEr 14 wd 15) |=

TS JAMH B TEHI 39 g SATERA
usHi &% IAY ded |
P,QR,S,T X UB: a1 T g &
SMHA-9MH Th M 89X § 92 21 P, S
MM QB IFT TN U, RIRT & =
¥ JeT 21 R, Q & 9rfi X e 2

14. PAIX R & &g 4 Je1 8 ?

1 T 2) Q
3 S 4 U
15, Q IR U & &g &g Se1 8 ?
1) T 2 R
(3) P 4) S
16. Ife TRt org, e dHg

8cmx 6cm X 4cm B, @ 2cm
IS a1 Ble-8Ble 991 & &9 H
FIeT ST 21 39 UHX Bie g1
F =T bt B 7

(1) 24 (2) 48

(3) 96 (4) 192



Direction : (Question No. 17 and 18)
Which one of the answer figure would
occupy the next position in the question
figure, if they continue to change in

same order ?

17. Question Figures :

PR [AFR [ ARR| ARA
o |RR| @ |ARR
@ [§RR] @ [AR

18. Question Figures :

0~ |oto|-0|oot

1 [0
@ (0«0
3) ﬂ
@ [«~00

MSMSS/9-2023

(7)

D

freer @ (J97 d@er 17 wd 18) afe usq
STl 9 A H dad dl ST hH

U IR STl H A ShIA-wl AT
Siera T qieE ?

17. 99 STepiaAT -

AR AR | ARR | AR
o |fR| @ |ARR

@ [§AR] @ [ARR
18. usd AT :

0~ |oto|-00|oot

1) [0e=
@ (0«0
@ [«00

P.T.O.



D (8)

Direction : (Question No. 19 and 20) In s ¢ (Us9 EeEar 19 wd 20) FreEiEd
the following questions, choose a figures ged H AR [&Ocdi H H UH S
amongst the four alternatives which when E\Jﬁ, B S emepla (X)) H U e

placed in question mark (?) space of figure (?) F WM 9 T@T ST al e ‘i[”'i Bl
(X) will complete the pattern. S
19. 19.
? ?

(x)
o Al e o djl e
® @ & © @ &

20. ,? 20. ,?
X) X)
\‘.'< 7 }‘.’{ 7
1 2 1 2
(1) %\4 (2) (1) ’/A\‘ (2)

3) @ (4) 3) @ (4)

21. If all the vowels are removed from 21. e Il W &I SIS JOTHIAT

the English alphabets, then which q el R S, @1 SC | ured
will be the eighth letter to the right X & M STl &R BT
of the fifth letter from the left ? R P

(1) M (2) N (1) M (2) N

3) P “4) Q 3) P “4) Q

MSMSS/9-2023



22.

23.

24.

25.

Which figure best represents the

relationship  between  Punjab,

Haryana and Hisar ?

@)

» @O
¥ote

Which of the following created
Indian Constitution ?

(1) Indian Parliament

(2) Constitutional Assembly
(3) Dr. Ambedkar

(4) British Parliament

Which one number is wrong in
the number series ?

5,13,39, 160, 805
(1) 5 (2) 39
(3) 160 4) 13

If SYSTEM is written as OVQIBR
in a certain code language, how
will NEARER be written in that
code language ?

(1) LBPNBP
(3) PGTTGP

(2) WBLNBP
(4) MCNOCQ

MSMSS/9-2023

(9)

22,

23.

24.

25.

D

gore, i iR e & d=
% G HI HHA-Gl AR gaIAT
FIT B 7

2)

» @O
00

IR dfgae fFas & S\ ™
DRI

(1) 9IRAEI 9 a1

(2) EiEg™ 941 ar

(3) Sfo T=THT aT

(4) fsiflesr d@ag B

q& e § dE-9l Uh de
TAT S 7

5,13,39, 160, 805

(1) 5 (2) 39

(3) 160 (4) 13

Ife fhEr it 9T § SYSTEM
% OVQIBR fo/@r <iar &, a1 3&
gicbiaes 9T § NEARER &0 fohd
UepX for@r S P

(1) LBPNBP  (2) WBLNBP

(3) PGTTGP  (4) MCNOCQ

P.T.O.



26. M is the wife of S. Q 1s the wife of
R. S is the son of Q. P is the son of
M. How is R related to P ?

(1) Father (2) Brother
(3) Grandfather (4) Uncle

Direction : (Question No. 27 and 28)
The given figure (X) is followed by four
figures (1) , (2) ,(3) and (4) , such that (X)
is embedded in one of them. Trace out

the correct alternatives.

27. XZ

(1)

(
(3) % (4) 7

A

28.

X)
(x)

M @ @ %%9
0,

¥ o |ZF

3)

o—
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26. M, S &I g1l 81 Q, R =l gl &1
S, Q ® YFA 21 P, M & G B
R &% P& 1 99 & 7

(1) o (2) «E
(3) arar (4) ==

e : (w9 der 27 wd 28) far
e X) =R BEl (D), @), (3) R @) #
q U H aRemH 2, 39 ae (X) g
a et e o fafeq 21 @&t fawea
qea X |

27. XZ

(x)

(1) @)

(3)

(4)

%?

28.

z

(x)

M @ @ %%9
®) _Z @ _%7[[




29.

30.

31.

32.

A person is trying to climb a pole
60 feet high. He climbs 6 feet in
one minute, but slips and comes
down 4 feet, then how many
minutes will it take him to reach

the top ?
(1) 32
(3) 27

2) 28
(4) 34

First World War started in :
(1) 1915AD  (2) 1916 AD
(3) 1918 AD (4) 1914 AD

Four friends A, B, C and D are
playing A and B are
partners. D is facing North. If A is
sitting to the left of D, then who is
facing South ?

cards.

1) B
3) A

@) C
4) D

Select the water image of the
given figure (X) :

$2

o (&2
&/

(4)

(1

P

3)

Cis

C:
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29.

30.

31.

32.

D

Uk Afd 60 Hle S T UX
I B YT HY (& 2| 98 THh
foe & 6 9T =Ie SIar 2, At
fohae T 4 Hie A= ST AT g,
d PR d% dgEd H 3§ fmA
e T ¢
(1) 32

(3) 27

2) 28
(4) 34

g faed g UTCY geT ¢
(1) 19150 & (2) 191630 |
(3) 191850 H (4) 19140 H



D

Direction : (Question No. 33 and 34)
In each of the following figures numbers
are written according to some patterns.

One number is missing. Find the
missing number that replaces the
question mark (?).
33. 248 1
121 2
58 5
? 12
(1) 23 (2) 27
3) 29 (4) 25
§ h Q h
(1) 32 (2) 34
(3) 14 (4) 24
35. With respect to zones of candle

flame, choose the correct option :

(1) Outer of
combustion — Yellow

zone complete

(2) Innermost zone of unburnt
Candle wax — Black

(3) Middle of
combustion — Blue

(4) Hottest Part — Black

zone partial

36. The perimeter of a rectangular

photo frame is 20 cm. If its length
is 6 cm then its breadth will be :

(1) 4cm (2) 6cm
(3) 10 cm (4) 14 cm
MSMSS/9-2023

(12)

feer : (97 deam 33 wd 34) ra &
e UdH ST H uh MiEa #H
FIAR HB deAl foet 1§ T g A
Uh de g9 o | g9 e 5 &Y,
Sttoued Rrest (7) & &9 49X IugE
8l |

33. 248
121 2
58 5
? 12
(1) 23 (2) 27
(3) 29 (4) 25
34.
(1) 32 (2) 34
(3) 14 (4) 24
35. A<l &H A H Had H, &l
faehed T
(1) 9ol =& & 9 d &5 — Yl
(2 T Sl HiEel ® a99d
AP & - HIal
(3) SAIRF TB ITT HEY ANT -
RSl
(4) G99 TH AW - Bl
36. UH AR HICIHH 1 IRHAT

20 9 2| I% TP TE 6 THI
21, Al g9 ASTE arl -
(1) 49+ (2) 639
(3) 10 It (4) 14 I+



317.

38.

39.

40.

Which of the following statement
about Rhizobium is true ?
(1) Rhizobia are bacteria that can

live in the soil

(2) Rhizobia are bacteria live in

nodules formed on the roots of

legumes.

Rhizobia

obtaining nutrients from the

bacteria

3) are
plant and producing nitrogen
in a process called biological
nitrogen fixation.

(4) All of the above statements

about Rhizobium are true.

Which metal is used to galvanize
Iron ?

(1) Chromium (2) Magnesium
(3) Zinc (4) Copper

Which
example of Thermoplastic ?

(1) Nylon

(2) Bakelite

(3) Melamine

(4) Vulcanized Rubber

of the following is an

For which
m=8?

1) 6™ x57?)/52=53
(2) —(5™ x 57%)/5% = 52
(8) (5™ x 53/5%2 =52
(4) (5x52)/52=5°

of the following 1is

MSMSS/9-2023
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317.

38.

39.

40.

D

TESieEy % 9 # Frefaraa #

q B G R G S 7

(1) TEshfeer sfary § st fed
¥ YE g% 2|

(2) ESTEET SHE] € S Tl @i
SEl U g1 Tiel § w2

(3) TESHfE=ET Siem] € S Qe |
g9 d@ I T & 3N
Sifaes ABere ReiseT
A GEhAT & EART ATS SIS
HI IR B © |

(4) TSSUEFH & a) H IUAHT
qfl FAF T 2 |

SIEEICI P NES SR IS IS 1R
foper ST B °

(1) shfEEm
(3) Sk

(2) FFNEH
(4) drer

g9 9 HH-9T Ul FHT
IETEXOT B 7

(1) s

(2) SbeTEe

(3) ATHTS

(4) d<THAESS X

=T 7 9 e [T m s "
88 ?

1) 6™ x573)/5%=53

(2) —(5™ x 57%)/5% =52

(3) (6™ x 5%)/52 =52

(4) (5x532)/5%2=5

P.T.O.



41. Who wrote the book 'Gulamgiri' ?

(1) Savitri Phule

(2) dJyotirao Phule
(3) Mahatma Gandhi
(4) Ramabai

42. Who established Shantiniketan ?

(1) Ravindra Nath Tagore
(2) Devendra Nath Tagore
(3) Satendra Nath Tagore
(4) Willian Jones

Direction : (Question No. 43 and 44)
In the questions given below the question
figure is that a special relationship exists
between A and B. This relationship is
established in figure C and one of the
Select the

alternative figure that should replace the

alternatives figures.

question mark (?) in figure D.

_1_l

o (== ®

(3) 171 @

MSMSS/9-2023
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41. TEHERY gEeh AT fhEd
w7

(1) @rieEl g
(2) SHIeRE HA
(3) HeTeHT TTeq

(4) THETE

MTAfTeha= el TO=T fha= &l ?
(1) =T IR
(2) FTI=ATT MY
(3) TASATT R
(4) fafer=H S

42.

fdsr ¢ (I d@EAr 43 wd 44) = Ru
T Ul H U ST # A AR B H
uh Oy dey g B g8 Oy
i C AR Jepfeass oTpfal & &
T H T © | 39 Jehiedeh TR @
I &, S ARl D # A Fea (?)
P WE A Fhall 2 |

43. I_

o == ®

®3) | @




44.

45.

46.

47.

3 [ ] .. ‘7

A B c D

% -
§ - &

Number 1 to 10 are written on ten

(1)

3) (4)

separate slips (one number on one
slip) kept in a box and mixed well.
One slip i1s chosen from the box
without looking into it what is the
probability of getting a 1-digit

number ?
1 1 @) 0
(3) 1\10 (4) 9\10

The value of 997 is :

(1) (90)* +2(90) (9) + (9)°
(2) (90)*—(90) (9) + (9)
(3) (90)* + (9)

(4) None of these

Which of the parallelogram has all
sides equal and diagonals bisect
each other at right angle ?

(1) Square
(2) Rectangle
(3) Rhombus

(4) Trapezium

MSMSS/9-2023

(15)

44.

45.

46.

417.

ol
3 @ o N

T 9 10 9% &H Gl B &9
TA-SAT gl g gy T
fesg & ST T T ST dXE
e R ) B # o9 o=
3Q UH Ul Mepel TE | UH ik
P HE&T Mo dH R TTeRdn
R 7

1) 1 (2) 0
(3) 1\10 (4) 9\10
992 &I I B :

(1) (90)*+2(90) (9) + (9)°
(2) (90)* - (90) (9) + (9)*
(3) (90)> + (9)°

(4) =5 § HF L

HFA-A GHERY TgYS B g9l
ol IeR & 9 IHB a0 T
gaX Bl 90° I FHIEHISTT hid
g7

(1) =

(2) ™A

(3) FHEYST

(4) FHeT =S

P.T.O.



48.

49.

50.

51.

The angle of incidence is equal to

angle of reflection :

(1) Always

(2) Sometimes

(3) Under Special Conditions
(4) Never

The amounts of these resources
be

replenished by natural methods,

are less and will not

are ..cceeeennee. .

(1) Biodegradable Resources

(2) Non-Biodegradable Resources
(3) Renewable Resources

(4) Non-Renewable Resources

Who is the chairperson of Rajya
Sabha ?

(1) Governor
(2) Vice-President
(3) Prime Minister
(4) President

When the square of a number is
subtracted from the cube of the
it becomes 100.

Find the number :

same number,

1) 1 @) 2

3) 4 4) 5

MSMSS/9-2023
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48.

49.

50.

51.

A I, guad— o7 H
FOET BT ©

(1) &g

(2) HH-HHT

(3) fasy gRRerfear #

(4) FHAT TSI

gpfal H 9 GEredi @ "HEn
it 8 ofX urpfe  ufshamsdi
R gAeiaT gl 8 dehdl B,
Fed T I

(1) =irepTer |9ra=

(2) AR HEra=

(3) wTdIRTeT HETe=

(4) STEIRIOTT Gare

ST qT &I G i BT 8 °?

(1) =9
(2) IUIYRT
(3) TgT=HAT
(4) At
ST U &1 & a9 I Il &

% g9 °§ § "o oA g, ar 100
T BT 8 | S ST hY

1 1 @) 2

3) 4 4) 5



52.

53.

54.

55.

How many parallelograms are in
the given figure ?

DNERANERNEAN
DNERANERNEAN

@) 12
4) 18

(1) 11
3) 16

In which Article of the Indian
Constitution every citizen has been
given fundamental right to life ?

(1) Article 21 (2) Article 22
(3) Article 19 (4) Article 18

The first English Factory was
established on the banks of which
river in 1651 AD ?

(1) Narmada (2) Huglh
(3) Tapti (4) Satluj

Which of the statements is/are

true in relation to equator ?

i. The equator passes through
the South
America, Africa and Australia.

continents  of

1. The equator passes through
thirteen countries.

iii. There is only one major river
which the
twice.

(1) Only 111

(2) Bothiandii
(3) Alli, 11,111

(4) Both i1 and 111

Crosses equator

MSMSS/9-2023
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52.

53.

54.

55.

D

& M ARl H RRaA @HiAR
agIT T 7

DNERANERNEAN
O NN

2) 12
(4) 18

(1) 11
(3) 16

ARAE Glaa & fhd A=se H
Udeh AN i Siia= Bl Al
aTferepR f&ar = B 7

(1) Tg=Be 21 (2) IT=ue 22
(3) ATTWE 19 (4) == 18

gerq ERAST el 1651 Fo H
P &l & fp e g2 ?

(1) e (2) g

(3) aT=it (4) TSt

ey @1 & Gdg H & a4

FIT TGF & 7

I 9gHeg Y@ SR STHE,
STRIRT ST Sffeeforar Her&at

g BIHT IO o |

. ¥Heq @1 dXE I F Bl
oAl B |

iii. B TH ggE TE T SN

YA @ Bl & TR IR
FHIT B |

(1) ae iii

(2) i3fTii =

(3) |t i, ii, iii

(4) ii A iii =T

P.T.O.



56.

517.

58.

59.

A rabbit walks 1 kilometer in 2
hours. After every kilometer he
rests for 20 minutes. How much
time will it take to cover a

distance of 3.5 kilometers ?

(1) 8 hours (2) 7 hours
(3) 6 hours (4) 5 hours
At the time ............ between 3:00

and 4:00, both the hands will cover
each other.

4
1) 3:16—
(1) Tl

7
2) 3:15—
) I

4
3) 3:10—
©) 1

5
4) 3:05—
(4) 1

Voice of which of the following is
likely to have minimum frequency ?

(1) Baby Girl
(2) Baby Boy
(3) A Man

(4) A Woman

One of the following is not a basic

component of a  rainwater

harvesting system.
(1) Catchment

(2) Delivery system
(3) Storage reservoir

(4) River system

MSMSS/9-2023
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56.

57.

58.

59.

Ueh XML 2 "¢ H UH fhaHex
IAd] 81 UDh fhallbey & 9%
gg 20 fee fasm &ar 21 3.5
fReie &l g 99 & § 39

fopa=T 9HT TR 7
(1) 8€ (2) 7HES
(3) 6% (4) 5d

3 X 4 I & o= Fa gug
AT gEAT U gER B @H S 7

4
1) 3:16—
(1) Tl

7
2) 3:156—
) T

4
3) 3:10—
©) 1

5
4) 3:05—
(4) 1

M= § 9 [h9 arg & @l SAET
IATH B I AT B 7

(1) BIET TASHI B

(2) B¢ TSh H

(3) g5Y i
(4) &= &HF

Fe=fafaa & 9 s aul o
SEEE IR LS 2 B
7T 2 |

(1) SicyE

(2) Tera=eT goTet

(3) SIS

(4) &1 goTTelt



60. The force of 50 newton acting on

area of 50 cm?2 will exert a

pressure of :

(19)

D

60. & 50 =g &, 50 HIHET o[

% eF%Bd U Al S, dr g8
fopa=T a9 @maAT ?

(1) 100 Pa (1) 100 Pa
(2) 1000 Pa (2) 1000 Pa
(3) 10000 Pa (3) 10000 Pa
(4) 1Pa (4) 1Pa
Direction : (Question No. 61 and 62) ISEE] (s dEm 61 wd 62)

In the following questions a figure (X) is FrfaRaa gt & oTpfa (X) & 8 =
3T 39 fIehed bl =T &I, S SApIT

X) & TUoT yfafes Sar fRadar 21

61. E 61. E
(o) (o)

(x) x)

given. Select the option which resembles

the mirror image of the figure (X).

o) o)
(1) 2) ° 1 2) °
3) (4) (3) (4)
O [¢) O [¢)
Eal Eal
62. [ 62. [
(x) (x)
<
(1) 2) A'AV (1) \,,}:2 2) A'AV

(3) 3) (4)

T

MSMSS/9-2023
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63.

64.

65.

66.

If in a year the Republic Day was
celebrated on the 4th Saturday of a
month, then what was the day of
the week on the 1st of that month ?

(1) Monday
(2) Tuesday
(3) Wednesday
(4) Sunday

According to you what is a Hen’s
egg in the given options ?

(1) Tissue

(2) Organ

(3) Organ system
(4) Cell

Ozone depletion is caused due to
increase in level of :

(1) Carbon monoxide

(2) Chlorofluorocarbon

(3) Water vapour

(4) Oxygen

Which of the following can not be
charged easily by friction ?

(1) A Plastic Scale

(2) A Copper Rod

(3) An Inflated Ballon
(4) A Woollen Cloth

MSMSS/9-2023
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63.

64.

65.

66.

g fpd a9 oG Raq 9E9 &
Y JFER B OFAET =T T, ol
SS9 HeM & Usdl aiE ohi
e &l HhiF-91 & o ?

(1) IFEr

(2) HTR

(3) FHaX

(4) TEEmr

HUh AR &I faeedi d @
T 1 SAST T B °

(1) ds

(2) ST

(3) ST YoTreit

(4) IR

S REaper & @YX H gha
T BT Bl & :

(1) HEA AAIRTFRIES

(2) FAFAIBIEA

(3) STl arq

(4) TR

fefafag ® fpg =991 &

AT | STARME 787 har S
Hehdl 7

(1) < s Y9
(2) did 1 B

(3) TR g =T
(4) ST T



67.

68.

The ratio of speed of a motorbike
50 km per hour and speed of cycle
20 km per hour is :

(1) 2:5

2) 5:

—

3) 5:

\]

4) 1:

\]

The four major components of
given below.

Match the following with their

environment are

exact relation.
Component Relation
1. Lithosphere 1. Air

2. Hydrosphere 1i. Life

3. Atmosphere 1. Water
4. Biosphere 1v. Solid Rocks,
Outermost

layer of earth

called crust

(1) 1-iii, 2, 3-ii, 4-iv
(2) 1-ii, 2-iii, 8-1, 4-iv
(3) 1-iv, 2-iii, 8-, 4-ii

(4) 1-1v, 2-11, 3-1, 4-111

MSMSS/9-2023

67.

68.

D

U Hiedzsd NTeedhl i 50 R
gfq Her & 9 Uh AiEfhd  forde!
wfir 20 R Ofq dHer B,

ST ©

1) 2:5

@ 5:1

3) 5:2

4) 1:2

UgieRel % AR 9g™ "Ik A

fer T | efeaa & S %
T Hatad ¥ gafed S |

e

2. SHSH ii.

gegl S qIH
Tl g e

e el Sl
2

(1) 1-iii, 2, 3-ii, 4-iv
(2) 1-ii, 2-iii, 8-1, 4-iv
(3) 1-iv, 2-iii, 8-, 4-ii

(4) 1-iv, 2-ii, 8-, 4-iii

P.T.O.



69. Global warming can result in

70.

many serious alterations to the
Which  of the

1s/are

environment.

statements wrong in

relation to global warming ?

1. Adverse Impact on health

1. low sea level

11. Threats to biodiversity

(1) Only 11

(2) Bothi and iii

(3) Allj, i, 1ii

(4) Both ii and iii

Which of the following statements

correctly describes the organic
food ?

(1) Food crop grown without using

fertilizers is organic food.

(2) Food crop grown without using

weedicides is organic food.

(3) Food crop grown without using

pesticides is organic food.

(4) All of the above.

MSMSS/9-2023
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69. TET AET & gRemEEed

70.

qgieRel § &z R aRaaq &1
ghd 21 ToEd aii T % 9ay "
H-AT,/8 FAA TAT & |

i @R 9 g0 99

. =1 99z wX

iii. S fafggar & Qg @aa

(1) &ad ii

(2) iaNTiil I=¢

(3) |, ii, iii

(4) ii ST iii I=T

fFrafafea & & @E-91 ®H

Siferh @1ed H1 @& AT Bl

g7

(1) IEXR & IGANT e &=
TME ST Ol @ed Hed
Siferes AT 2 |

(2) M1 EUqERARE & IS
ST Al @ed ®Bad Sifdeh
A5 2 |

(3) HISAITR & IIAN & f&=T
IME A Al @ed wEd
Sifees ST 2 |

(4) IUERT AT |
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5.

10.

11.

12.

13.

14.

15.
16.

17.

usHl % IO, I9X U=k H it @t
i@ @Ee U9 | goiaar wem & g,
= g ™= e o

O @ ® ®

AW B I ™1 SOX 99 "l Se, 9
IR A @ B A U 9 9 ©

© ® © @

g uh q STET @l B 9T 39 & Al AT
JAY Ad HAT ST |

B I
a1 &%

. X% HE U gRIE H TH A & g & e

el SFTE 9¥ &1 &1 |

.9l IOY Fad AT 9=k (OMR) 9¥ & SAfehd

H | AT IR AFYESD Hiehd B | I FEa
2g 29d % (Fhe wIS) H gAnT Mt B

. g% 99 & g Ru @ 9 fGeedt § 9@ S

fopeg & [T IOX =% (OMR) 9% Had TH &
gd H T TE H O @Ee 99 A TH
IR Iax AfPd FE B d” I/ FE@r A S
T B

. Al gEfRea &Y & 39 SR 95 @ HiST |

ST Ud IE U¥ HiE oY MY A @ |
AT HYAT ATHHE IR 9= H iR
W & AR == 7 o |

gs< R Td IAX IS 1 SFgEasE HART HY,
Fifeh R o aRRET d (Fa 9= gRae od
I GHAF B HHik H Brar i Rafa @ see)
g 797 G @< Sqa= TE Fears g
gsq gRAw /SR Uk H U T hHiw R
Al |@El e 9 e 9 § o |

Feft H gem B/ /HE W OHAA wEe b
HIARFT fopdl X sl a1gg amEl, giga o
BT HRTST &I gREEl, U9, HiEEd HBie,
FAFS(h SR a7 hAT ST WX hl Al
H A S AT ITET FIA B STGART S B

IREUGEE-RUIE IS | B LR C T L D R S|
gag-u= (U o) Rt |

He= relers a1 Fders @ [T ergHfa & fae
HIE AR FUAT W T 8BS |

SAFEI+Teh /EEqaTeTd Uiiehaleh bl IYANT aford 2 |

Rl Brad d gs-gRaE Td STO-USE H Hls
AT ST T HY |

G @ B WY, STl udien  oher /e
Blgd A Jd IO USh  hE-UIAETh Wl STAH
g T Al o9 A1 g GRAHT H A ST
THl |

5.

10.

11.

12,

13.

14.

15.
16.

17.

Answers to questions in answer sheet are to be
given by darkening complete circle using black ball
point pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as given

below :
v ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed
to be changed.

. The candidate should ensure that the Answer Sheet is

not folded. Do not make any stray mark on Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of
Test Booklet will not be provided.

The candidate will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidate is not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.
Use of Electronic/Manual Calculator is prohibited.

No part of test Booklet and Answer-sheet shall be
detached under any circumstances.

On completion of the test, candidate must hand over the
Answer Sheet to the Invigilator in the Room/Hall. The
candidate is allowed to take away this Test Booklet with
them.
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